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TOPIC 2.1

Efficient Resource Allocation,

Externalities and Market Failure,
Social Costs and Benefits; Cost-benefit Analysis,

Policies to Achieve Efficient Resource Allocation

and Correct Market Failure,
Government Failure in Microeconomic Intervention.

MCQ Section

What will happen if a firm is
subsidised by an amount equal to the
external benefits that it confers on the

rest of society?

A Resource allocation will be
improved.

B The firm will produce less.

C There will be a misallocation of
resources.

D There will be no effect upon pro-

duction.
[JOS/P3/Q1]

In the diagram the imposition of a tax
on a commodity causes its supply

curve to shift from S, to S,.

Pl---

(o) Q, Q,
quantity

Which area measures the resulting
deadweight loss?

A PPJK
C JKM

B JKQ,Q,

D JKN
[J08/P3/Q12]

3. A good gives rise to external costs

and is produced under conditions of

monopolistic competition.

Which statement must be true?

A Output of the good is at the
socially optimum level.

B Output of the good is below the
socially optimum level.

C Private costs of production
exceed social costs.

D Social costs of production exceed

private costs.
[J08/P3/013]

A government decides to privatise a
state monopoly.

What should the government do to
try to ensure that this will result in an
improvement in efficiency?

A allocate vouchers to all citizens
entitling them to a share in the
ownership of the mgnopoly
encourage competition

impose a maximum profit margin
privatise the monopoly as a going
concern

[~ M eol--

[J08/P3/Q15]

Which condition must be met for

economic efficiency to be achieved?

A Marginal social costs are zero in
the production of all goods.

B Marginal social costs equal mar-
ginal social benefits in the pro-
duction of all goods.

—
HELPS  Mcq
1. A Asubsidy

increases output to gff.
clent level, hence, re.
source allocation would
improve.

2. C Imposition of tax
reduces equilibrium quan-
tity from Q, to Q,. The
loss of both consumer
and producer surplus on
this quantity is labeled
as deadweight loss re:
sulting from the tax.

3. D Excess of socid
sosts on private costs
external costs.

4. B Competition
improves efficiency.

5. B Economic efft
ciency exists where
MSC = MSB in the P
Juction of all goods: .Op-
tion A is not possibl
whereas options ca
4o not consider {he o
side of the equatior
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C Mnr‘ginal s.ocial beneﬁts. areata 8. In the diagram the introduction of a
maximum in the production of all government subsidy causes an
goods. industry’s supply curve to shift from

p Marginal social costs are at a S, to S,
minimum in the production of all .
goods. A D !

[N08/P3/Q1] J S,
. , 3 !
¢, The diagram sl.mws the': levels of util- orice 1 E

ity corresponding to different alloca- N R A '

tions of resources between two |

people. ! é

The initial allocation is Z. ! ' N

Which reallocation of resources would 0 Q Q -

definitely be more Pareto efficient? quantity

} Which area measures the resulting
) deadweight loss to society?
A-
8 A P )NKP, B JKN
C NLK D QQJN
erson Z- .
P utiity P [J09/P3/QI4]
/’, c
,"/ 9. What could prevent a market economy
achieving allocative efficiency?
"’\45 > A disagreement among consumers
0 person X's utility over resource allocation
[NO8/P3/Q2)] B !ncqualmes in the distribution of
income and wealth
7. In the diagram, the firm is operating at C an ifmb'l'”.y to produce free gooclis
point X on its long-run average cost D an inability to produce public
curve. goods
[N09/P3/Q14]
) LRAC
10. An economy is operating at a point
X on its production possibility curve.
cost What is true about the way the
economy’s resources are being used
at this point?
0 - . - -
output allocatively [ productively socially
: fficient fficient desirabl
Which statement about the firm is ‘ Icfen s csirab’e
correct? A | possibly yes yes
. . B : .
A ltis operating at its optimal level ye's possibly posstbly
of output. C | possibly yes possibly
B It_i§ operating below its cost- D yes possibly yes
minimising level of output. [N09/P3/Q30]

C 1t is productively inefficient.

Itfcould produce its current level
ol output at a lower cost.

[JO9/P3/Q1]

I

HELPS o MCQ

6. A Pareto efficiency
axists where it is impos-
sible to make any one
better off without making
someone else worse off.
Only point A is definitely
pareto efficient because
movement from point A
to any other point will in-
crease utility for person X
by only reducing utility of
person Y.

7. B Optimal level of
output is the lowest point
of the lowest LRAC
hence option A is incor-
rect. Option C and D are
incorrect because in dia-
grammatic terms, produc-
tive efficiency is when the
firm produces at a point
(any point) on its LRAC
curve — not just at the
lowest point on the curve.

8. B Net cost of sub-
sidy to society.

9. D Market forces
fail to allocate resources
for public goods due to
the free rider problem.
Option A is irrelevant and
option B is not related
to the issue of efficiency.
Option C is clearly incor-
rect.

10. C All points on
PPC are productively
afficient while efficient
allocation of resources
depends on the prefer-
ances of society.
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11. Which is a correct statement about
efficiency?

A

Allocative efficiency occurs when
marginal revenue equals marginal
cost.

An economy is productively effi-
cient when it is producing at a
point on its production possibil-
ity curve.

An economy will improve its
allocative efficiency when its pro-
duction possibility curve moves
outward.

Productive efficiency occurs
when the prices of goods equal
their marginal cost of production.

[J10/P3/Q30]

12. In an economy no one can be made
better off without making others worse
off.

What can be concluded from this?

13.

A

All markets are perfectly competi-
tive.

There are no externalities.

The economy is operating on its
production possibility curve.
The distribution of income reflects
what each individual deserves.

[NIO/P3/Q1]

Which is not a policy designed to
correct market failure?

A
B

competition policy

free inoculation against infectious

diseases

minimum wage policy

regulations to limit river pollution
[NI0/P3/Q14]

14. The diagram shows the private and
social marginal costs and benefits at

different volumes of traffic.

A

costs,
benefits
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HELPS , g,

MSC

MPC

MPB = MSB

>

volume of traffic

imposition of a congestion tax

raises the MPC curve to MPC + tax.

Whi

ch area measures the resulting re-

duction in the deadweight loss?

A
C

x +y only B x+y+z
y only D zonly
[J11/P3/010]

15. In the diagram, LM is an economy’s
production possibility curve.

L

good X

0]

4

4

good Y M

Which statement is correct?

A
B
C

E only is attainable.
F is economically efficient.

G may be economically efficient
but is not productively efficient.

H is productively efficient -but
may not be economically.efficient.

[J11/P3/Q30]

—-

11. B Al points on g
PPC are necessarily prg.
ductively efficient. Alle-
cative efficiency is Where
P = MC hence A 3 p
are incorrect. Option C s
incorrect because in-
provement in allocative i
ficiency does not always
follow an outward shift i
PPC.

12 C Pareto efficiency
is attained only on the
PPC, where it is only
possible to increase the
output of one product by
reducing the output of
another, hence someone
zan be made better off by
making others worse off.

13. C  Compeltion
policy is formed to reduce
concentration of market
power; a markel failure.
Free inoculation and regu”
lations to limit river polu-
tion would increase o™
sumption of a merit §
and reduce negative &
lernality again examplés
of market failure.

14, A Without tax the

dead weight loss ]
=X+ Y +Z. AcOﬂges

lion tax raises trtnexMaP
curve to' MPC + laX,
thus -reduces the yolume
of traffic and deadw+9 .
loss by the ared

O
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16, The diagram shows a firm's long-run
cost and revenuc curves.

LRAC

costs, revenue

AR

L' MR |

0 AB c D

output

At which level of output is the firm
both allocatively and productively

efficient?
A OA B OB
Cc OC D OD

[N11/P3/Q2]

17. What would economists agree should
be the aim of any health care system?

A to meet all the health care
demands of the population

B to provide every patient with the
latest and best available treatment

! C to provide free medical treatment

D to secure the maximum health gain
from the resources available

[N11/P3/Q13]

18. The diagram shows the supply and
demand curves of a commodity.
A government subsidy causes the
supply curve to shift from S, to S,.
Which area measures the difference
between the cost to the economy of
producing the resulting increase in
output (Q, —Q,) and the value consum-
ers place on this increase in output?

)

D

______________________ S,

[}

O beee

O LD

C3 H

________________ 1 B
ic/]
D

0 — >
Q q e
quantity

[N11/P3/015]

19. When is economic efficiency achieved
in an economy?

A when nobody can become better

off without somebody else becom-
ing worse off
when the economy is operating at
its natural rate of unemployment
when the level of social costs is
minimised
when the rate of economic growth
is maximised

[J12/P3/01]

20. In the diagram the imposition of a tax
on a commodity causes its supply
curve to shift from S, to S,.

quantity

Which area measures the resulting
deadweight loss?

A PPJK B JKQ,Q,
C JKM D JKN
[J12/P3/Q14]

. A good gives rise to external benefits
and is produced under conditions of
imperfect competition.

Which statement must be true?

Benefits to consumers exceed the
benefits to society.

Firms producing the good will
make a loss.

Output of the good is below the
socially optimum level.

Social costs of production exceed
private costs.
[J12/P3/Q15]

HELPS 1w MCQ

15. D Economic effi-
ciency is achieved when
both productive efficiency
and allocative efficiency
exist. All the points on a
PPC are productively effi-
cient but a given point on
the PPC may or may not
be economically efficient.
Options A & B are
clearly incorrect while C
is contrary to the theory.

16. C MC=AR(P)
suggests allocative effi-
siency, whereas output at
the lowest LRAC refers
to productive efficiency.

17. D Economists aim
at efficient use of scarce
resources i.e. maximum
gain from the available
resources.

18. A Cost to the eco-
nomy=A+B+C+D.

Consumer valuation
=B+C+D. Thus triangu-
lar area A is the differ-
ence.

19. A By definition.

20. C Waste of both
consumer and producer
surplus resulting from a
fall in output is called
dead weight loss.

21. C Market system
of demand & supply fails
to take account of exter-
nal benefits; therefore the
resulting output is loss
than the soclally optimum
level. Options A & D re-
fer to external costs while
B Is irrelevant.
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22, What will happen if a firm is

subsidised by an amount equal to the

external benefits that it confers on the

rest of society?

A There will be no effect upon
production.

B The firm will produce less.

C There will be a misallocation of

resources.

Resource allocation will be

improved.

D

[N12/P3/Q1]

23. All firms in an economy produce at

levels of output where price and mar-

ginal private cost are equal.

Why might this not be sufficient to

ensure that allocative efficiency is

achieved?

A a small number of buyers and
sellers

B differences in consumers’ prefer-
ences

C product differentiation

D the presence of externalities

[N12/P3/Q14]

24. A firm operates in a perfectly

competitive market.

Which relationship between the firm’s
cost and revenue describes a position
where allocative efficiency would be
improved if the firm reduces its
present level of output?

A P=MR>MC
B P=MR<MC
C P>MR=MC
D

P>MR>MC
[J13/P3/Q12]

25. The diagram shows the market supply

and demand curves for corn.

to s

) T Y AR

3 06 W—
N
RN
K L R

output

26.

27.

28.

What should a government do if it is
to maintain a minimum price of OP,?

A buy quantity KR
B buy quantity LR
C sell quantity KL
D

sell quantity OL
[J13/P3/Q16]

What is the purpose of trying to
achieve economic efficiency?

A to ensure that economic decisions
are made equitably

B to ensure that firms are interna-
tionally competitive

C to ensure that firms maximise their
profit levels

D to ensure that the cconomy does
not waste scarce resources

[N13/P3/01]

The firms in a perfectly competitive
industry combine to form a monopoly.

What would prevent a deadweight
welfare loss resulting?

A The government imposes an indi-
rect tax on the monopolist’s prod-
uct.

B The government requires the mo-
nopolist to charge a price equal to
average cost.

C The monopolist adopts marginal
cost pricing.
D The monopolist charges the same
price to all consumers.
[N13/P3/Q16]

In the diagram, LM is an economy’s
production possibility curve.

good Y

Which statement must be correct?

Topic 2.1 ¢ bag
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HELPS e,

2. D Goog yi

nal benefits jg m;xter.
dUCEd by mafket torpro'
A subsidy wi| inc,ec:'
its output, thereforg iSe
proves allocation y rrn
sources, b

23. D The condition
P = MC indicae allp.
sative efficiency oy n
the absence of externali
ties.

24. B Allocativg effi
ciency is where,

P= MR = MC. MC> I
implies that the firm mug
reduce its output up to
the level whera its MC -
MR.

25, A In order to main-
tain price at OP, gov
ernment must buy sur
plus (K— R) at OPy

2. D Scarcity of r&
sources necessitates lfi
cient use of resources.

27. C  Marginal cos!
pricing results in P= M?.
i.e the same price 8 i
a perfectly competitivé
industry.

a
28. A Any point O
PPC indicates pr%dlrjgtwe
officiency, therefor: :
point Inside PPC' 573
gests productive m;e ‘
ciency. Howeven ag ’
point on the pPC méy
may not be e
and hence 6con callY
efficient.
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A Fis productively inefficient.

B GandHare productively efficient
but economically inefficient.

Cc OnlyEis economically efficient.
p OnlyGis productively efficient.
| [J14/P3/Q1]

29, Which is not a policy designed to
correct market failure?
A competition policy
B free inoculation against infec-
tious diseases
C minimum wage policy
D regulations to limit river pollution
[J14/P3/Q14]

30, In the diagram the imposition of a
specific tax causes an industry’s sup-
ply curve to shift from §, to S,.

A S,
D
; S,
N
P1 ---------- ' :
ice ! i
i 2 i e J: """ :
0 Q, Q "

quantity
Which area measures the resulting
deadweight loss to society given
that there was no market failure
initially?

A NK B JKN
[J14/P3/Q15]

31. Which condition defines productive
efficiency?

A All factors of production are
fully employed.

B All firms are producing at their
profit-maximising levels of
output.

C  There are no further opportunities
for substituting capital for labour.
The output of all goods is pro-
duced at the lowest possible cost.

[N14/P3/Q1]

32. The diagram shows the private and
social costs and the private benefits
that arise as the number of car jour-
neys into a city centre increases.

In the absence of any external ben-
efits, which volume of traffic would
maximise the community’s welfare if
entry could be restricted through the
issue of permits?

HELPS to MCQ

marginal

N SRy ASEY >

B et G T w |

>

0 number of

car journeys
[N14/P3/Q18]

33. At present, a country’s government
has set its central bank a target rate of
inflation of 2%.

What is likely to happen to interest
rates and the exchange rate if the tar-
get inflation rate is raised to 3%?

interest rates | exchange rate
A fall tall
B fall rise
C rise fall
D rise rise
[N14/P3/Q30]

34. What need not pose a potential threat
to allocative efficiency in a market
economy?

A extemalities
B differentiated products
C monopolistic elements

D perfect knowledge
[J15/P3/Q1]

social cost
marginal
private cost

marginal
private benefit

29. C Government
uses minimum wage to
address the problem of
poverty and equity, there-
fore, not related to market
failure.

30. A Triangular area
representing waste of
both consumer and pro-
ducer surplus that results
from a fall in quantity is
called deadweight loss to
society.

31. D By definition.

32. C Since there are
no external benefits,
therefore MPB = MSB
and the community’s wel-
fare will be maximized
where MSB = MSC.

33. A A higher target
rate of inflation will allow
the central bank to re-
duce the rate of interest
that should lead to a fall
in exchange rate.

34. D Perfect knowl-
edge results in right
choices and correct de-
mand, therefore, results
in allocative efficiency.
Other options suggest
market failure i.e. allo-
cative inefficiency.

i s 5
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" 35. A country’s steel producers are mem-

36.

37.

bers of a cartel. Each member is allo-
cated a production quota and initially
produces the maximum allowed under
its quota.

What will be the effect on productive
efficiency and on the industry’s prof-
its if the producers are allowed to
trade the quotas amongst themselves?

effect on
X effect on
productive fit

B efficiency protits

A | improvement increase

B | improvement no change

C no change increase
D no change no change

[J15/P3/Q16]

Which government policy would not
be classified as regulation?

A bans on heroin and cocaine
consumption

B compulsory wearing of seatbelts
in cars and coaches

C licences for the extraction of wa-
ter from lakes and rivers

D taxation of cigarettes and
tobacco products

[J15/P3/Q17]

The diagram shows the production
possibility curve for a successful tran-
sition economy that moves from point
X to point Y over time.

!
public °X
sector
output Y
o private sector

output

During the transition process the
population of the country expressed a
strong preference for increased
privatisation.

What happens to economic efficiency
as a result of the transition from point
X to point Y?

38.

39.

40.

Topic 2.1 bag
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productive allocative HE LPS o MC
efficiency cfficiency Q

A | increases decreases 3. A Firmg -
. . their quotg Wil g

B increases increases when' their prof-do
C | unchanged decreases higher rathe thar':su;ire

i
D | unchanged unchanged the quota by fhg IV“Q
. Similarly buyers wil s,

[N15/P3/Q1] ill b

Which government microeconomic

policy is not usually aimed at correct-

ing allocative inefficiency in an

economy?

A anti-monopoly legislation

B congestion charges for the use of
roads in cities

C pollution taxes imposed on
various firms

D subsidies for agricultural

producers
[N15/P3/Q16]

The current distribution of goods be-
tween two individuals in a two-person
economy with given technology and
resources is at point X.

According to the Pareto criterion,
which point would definitely indicate
increased allocative efficiency?

]
Ae
Tarig's
goods Xe *B
oD °C
0 Samir's goods -
[J16/P3/Q2]

The concept of allocative efficiency
assumes that each individual in soci-

ety is the best judge of their own
economic welfare,

Which example of government inter-
vention is based on an argument
which rejects this assumption?

A pollution controls

B subsidies for merit goods

C the provision of public goods

D the regulation of monopolies
[J16/P3/0Q3]

quota only if jt incr
lhei_r profits, therefof8
trading quota Shoulg i:'
crease industry's proﬁ(s.
In this case less efﬁcjen'
firms will benefit if the
sell their quota to more
efficient firms, therefora
productive efficiency ip,
proves,

36. D An indirect tay is
an example of financia)
intervention in market,

37. B Point X is below
PPC while Y is on the
PPC, therefore move-
ment from X to Y repre-
sents improvement i
productive efficiency. Also
Point X does not repre-
sent people's preference
as closely as point Y
does, therefore allocative
efficiency also improves.

38. D The objective of
subsidy in this case is lo
reduce the prices of agri-
cultural products and not
necessarily to improve
allocation of resources.
All other options represent
market failure.

39. B Movement from
point X to point B wil
make Sameer better qtf
without making Tard
worse off, therefore it w!II
improve allocative eff
ciency. However a move-
ment from X to any othef
point except B wil make
one person better off by!
only making the othe
worse off.

own

40. B On their
people’s judgment %
sconomic welfare of m? .
goods s usually O
ered incorrect.

el
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41.

42.

43.

costs,
revenue
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A government regulates the price

charged by a monopolist.
[n which circumstance will such inter-

vention improve economic efficiency?

A The government sets the price
where average revenue equals
marginal cost.

B The government sets the price
where marginal cost is below

average cost.

C The intervention results in an
increase in producer surplus.

D The intervention results in preda-

tory pricing.
[J16/P3/018]

What is the purpose of trying to

achieve economic efficiency?

A to achieve full employment

B to achieve the cheapest possible
price for products

C to ensure resources are not
wasted

D to use as many resources as

possible
[N16/P3/01]

In the diagram, a firm increases its
output from OY to OZ.

4
MC

44,

45.

Z
output

< b-----b-mmmmeee o

Which statement about the effect on
economic efficiency is correct?

A It will increase because a greater
quantity will be produced and
higher total revenue will be
earned.

B 1t will increase because the value
that consumers place on the prod-
uct comes closer to the cost of
producing the last unit.

C It will decline because both aver-

age and marginal revenue will fall.

D It will decline because both total
and marginal cost will rise.

[N16/P3/02]

A proposal for a new power station
was rejected by the government
because it was not socially beneficial.
The government calculated that the
private costs would be $800 m, private
benefits $900 m and external benefits
$300m.

What must have been true about the
external costs of the power station?

A External costs were equal to
external benefits.

B External costs were greater than
$400 m.

C External costs were less than
external benefits.

D There were no external costs.

[NI16/P3/Q3]

When will an economic activity create
a net social benefit?

A when (private benefit + external
benefit) — (private cost + external
cost) is negative

B when (private benefit + external
benefit) — (private cost + external
cost) is positive

C when (private benefit + private
cost) — (external benefit + external
cost) is negative

D when (private benefit + private
cost) — (external benefit + external

cost) is positive
[J17/P3/Q1]

. The diagram shows the private and

social costs and benefits of produc-
tion in a free market that result in
market failure.

HELPS 10w MCQ

41, A Since AR=P,
therefore AR = MC in
effect means P = MC, a
necessary condition for
allocative efficiency.

42, C Scarcity of
resources implies that
they must be used most
efficiently.

43 B Economic effi-
ciency is achieved when
P = MC. Since the gap
between P and MC is
reduced, therefore effi-
ciency improves.

44. B Rejection of pro-
posal refers to SB < SC.

SB=PB +EB, and
SC=PC+EC

Since SB = $1100 m and
PC = $800 m therefore
EC must be greater than
$400 m for SC to exceed
SB.

45. B PB+EB=SB
PC+EC=SC

A positive outcome of
SB minus SC indicates
net social benefit.

46. C Production in
free market is OM where
MPC = MPB

Socially optimum produc-
tion is OL where MSB =
MSC.

Hence market overpro-
duced this good by
M-L
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costs, benefits

0]

MSC

MPC

MPB

SR

KL M N output -

Which change in output would be
necessary to overcome this market
failure?

A fromKtoM

B fromMtoN

C fromMtoL

D fromNtoL
[J17/P3/Q2]

47. In an economy no one can be made

better off without making someone
else worse off.

What can be deduced from this?
A Individuals are the best judges of
their own well-being.

B Individuals can be relied upon to
behave rationally.

C The distribution of income is
socially optimal.

D The economy’s resources are
allocated efficiently.

[N17/P3/01]

48. The production of a firm which oper-

ates in an imperfectly competitive
market gives rise to external produc-
tion costs.

Which statement about this firm must

be correct?

A External costs exceed external
benefits.

B Private costs exceed social costs,

C Social costs exceed private

costs.
D Social costs exceed social

benefits.
[N17/P3/Q3]

MSB

Topie 2.1 o - v
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49, In the UK in 2015 there were two
methods of charging for water supply.

1 a fixed charge giving the con-

sumer the right to consume wa-
ter at zero price per litre

2 a price per litre of water used

It has been observed that the amount
of water consumed is markedly lower
when method 2 is used.

What is implied by this observation?

A

B

Water in the UK is not a scarce
good.

Water is a free good of nature and
no charge should be levied.

Water is a necessity, the use of

which should not be restricted by

unit prices.

Water is subject to the law of

diminishing marginal utility.
[N17/P3/04]

50. Which policy is not designed to
correct a market failure?

A

ocOoOw

government provision of health
care

removing import quotas
price controls on large firms
regulations to limit smoke pollu-
tion

[NI17/P3/Q14]

§1. How is social cost calculated?

A

B
C
D

external cost minus external
benefit

external cost minus private cost

external cost plus private cost

soclal ¢ost minus social benefit
[JI8/P3/Q1]

52, Which government policy is not aimed

at correcting inefficiency in resource
allocation?

A

B

marginal cost pricing in state
owned industries

permits restricting the pollution of
rivers by private firms

:
HELPS ) MCQ

47. D By definy

' it
Options A & g ;on '
inefficiencigg Wwhi Qgeg
not related to efficiency ’

48.c SC = PC
o i SC)PC"sztE&
due to EC, Option B
S;Jogests externa|
efits while the oy
of A&Dis uncenai(:,('J e

49. D Since My of Wwa-
ter diminishes therefor
people do not consume
water beyond the pojn
where MU of the money
that they pay for it equals
MU of an additional ynit
of water,

50. B Options A, ¢ &
D aim at correcting mar-
ket failure while B aims
at correcting BOP,

51, C Social cost

= private cost + extemal
cost. Option A measures
net external benefits and
D suggests net social
benefits while B Is irrel-
avant.

52. C Requiring mini-
mum wage to be pald
aims at correcting ineg-
uitable distribution of
income hence it is not
related to efficient allo-
cation of resources. Al
other options clearly
suggest policies to cor
rect Inefficlent allocation
of resources.
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RS

C

{ D

| and

requiring firms to pay a minimum
wage
the provision of public goods at
zero price

[J18/P3/Q2]

l 53, The table shows some of the costs

benefits, in $ millions, associated

with a road building project. Both a
government department and a profit-
maximising private firm are consider-

ing building the road.

private external | external | social
costs | costs benefits | benefits
450 75 50 550
Who would be willing to build the
road?
A Both would be willing to build it.

B

Neither would be willing to build
it,
Only the government department
would be willing to build it.
Only the private firm would be
willing to build it.

[J18/P3/03]

54, In the diagram, Q, is the quantity pro-
duced of a good as the result of mar-

55, Under which circumstances will a sub-
sidy from the government be most
beneficial if there are externalities from
producing good X?

externality caused | price elasticity of

by good X demand of good X
A negative <]
B negative >|
C positive <l
D positive >

[J18/P3/Q17]

56. In which situation are there definitely
positive externalities?

A

B

57.

ket forces.
[}
price S, (social cost)

f S, (private cost)
|
D

0 VQ1 o

quantity

Which concept is present at output

Q?
A
B
C
D

a government subsidy
a negative externality
a positive externality
a specific tax
[J18/P3/Q4]

Private benefits exceed private
costs.

Private benefits exceed social
benefits.

Social benefits exceed private
benefits.

Social benefits exceed private

costs.
[NI18/P3/Q1]

A cost-benefit analysis is carried
out on the construction of a hy-
droelectric power station.
Which combination of circum-
stances would be most likely to
lead to the scheme being ap-
proved?
A Private benefits are greater
than private costs.
Social benefits are greater
than social costs.
C Social benefits are greater
than total costs.

D Total costs are greater than

total revenue.
[N18/P3/Q2]

58. What does not pose a threat to the
achievement of allocative efficiency?

A

B
C

imperfect information on the part
of consumers

income inequalities

the existence of externalities

the presence of monopolistic ele-

ments
[N18/P3/03]

HELPS 10 MCQ

53, A PB=SB-EB
(500 = 550 - 50) and PC
= 450, therefore it is
profitable for a private
firm to build the road.
Government would be
willing to take up this
project because PC + EC
=SC < SB. (450 +75 =
525 < 550).

54. B A higher SC than
PC suggests presence
of negative extenality.

55. D Government
uses subsidy in order to
increase provision of
joods that generate posi-
tive externalities. Thus
options A & B are ruled
out. A subsidy benefits
the most when PED > 1
because it causes price
to fall and a proportion-
ately larger increase in
consumption.

56. C Positive exter-
nalities refer to external
benefits that exist when
SB > PB, Option A mea-
sures net private ben-
ofits/cost while B sug-
jests negative externali-
ties (PB > SB) while op-
tion C is irrelevant.

57. B A project is ap-
proved when it gener-
ates net social benefits

(SB>SC). Thus C & D
are cancelled. Option A
is more likely to be
applied by private firms.

58. B Income in-
equalities refer to the
issue of income distribu-
tion hence it is not re-
lated to efficient alloca-
tion of resources as are
all other options.
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§9. Transport economists estimate the
price elasticity of demand for private
car use is very low.

What would be the most effective way
of reducing road traffic congestion?

A

B

banning private cars and lorries

from town centres

introducing a subsidy to lower

the price of using bicycles

introducing road pricing on all

main roads

subsidising public transport such

as trains and buses
[N18/P3/013]

59: A A lower
USIﬂg pﬁVat
means 3 taxeo:ra%
would bring a pr sub“ol
ately smaller fauoznm'
ber of private Carg
roads and heMe

fail to redyce o
gestion. In that
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TOPIC 2.1

Efficient Resource Allocation

Externalities and Market Failure
Social Costs and Benefits; Cost-benefit Analysis

Policies to Achieve Efficient Resource Allocation
and Correct Market Failure

Government Failure in Microeconomic Intervention

S

S

ESSAY Section

LIST QF QYsSTIONS

(JO8/P4/Q2)

The government in Namibia stated that elec-
tricity prices should cover cost and should also
be based on the principle of allocative effi-
ciency.

Discuss whether this approach to pricing can
be supported in theory. [25]

(J08/P4/Q4)

Large firms necessarily become monopolistic.
Monopolies adopt practices that are undesir-
able. Therefore, large firms should be regu-
lated by governments.

Discuss whether there is any truth in this ar-
gument. [25]

(N08/P2/Q3)

(a) Explain the market failure which arises
from the characteristics of public goods.

(8]

(b) Discuss whether the use of cost-benefit
analysis helps to improve economic deci-
sion making. [12]

(N08/P4/Q4)

In India the post is delivered partly by private
courier firms and partly by the government-
owned India Post. The government is keen to
Increase its share of the market.

(@) Explain why a government might wish to
increase its control over private firms. [10]

(b) Discuss whether an increase in govern-
ment control necessarily improves effi-
ciency in an organisation. (15]

Q5

Q6

Q7

(J09/P4/Q7)

A World Bank report in 2007 commented on
the continuing need for major spending world-
wide on infrastructure on everything from
roads and railways to water and electricity gen-
eration.

(b) Discuss whether an efficient allocation of
resources can be obtained only if large-
scale investment is undertaken by the pub-
lic sector rather than the private sector.

[15]

(J10/P4/Q2)

In 2007 the UK Competition Commission indi-
cated that failure in the market mechanism
would result in both winners and losers.

(a) Explain why producers are usually the win-
ners and consumers are usually the losers
when the market fails. [12]

(b) Discuss what the government might do
when there are losers because the market
mechanism has failed. [13]

(N10/P4/Q2)

In 2009 there were huge fires in Australia
which destroyed much property and country-
side. The government promised to allocate a
large amount of money and resources to help
with the restoration of the area.

(a) With the help of diagrams explain what is
meant by efficiency in the use of re-
sources. (12]

(b) Discuss the economic implications of the
government’s approach to the situation.
[13]
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Q8 (N10/P4/Q7) Smith recognised that there wag 4 heg
Economic analysls states that the aims of the some government Involvement. U for

government include economic growth and eco-
nomic efficiency.

(b) 18 economic efficlency better achleved by
the market mechanism rather than by gov-
emment microeconomic policy? (13]

Q9 (V11/P4/Q2)

The use of cars causes market failure. To
achieve an efficient use of resources it would
be better it governments intervened to affect
both the production and the use of cars.

Explain the meaning of the terms ‘market fail-
ure’ and ‘the efficient use of resources’ and
analyse whether economic theory can be used
to support this argument. (28]

Q10 (N11/P4/Q2)

(b) Analyse what is meant by economic effi-
ciency and assess whether efficiency is
always achieved in a market. [13]

Q11 (J12/P4/Q7)

It is important to achieve economic efficiency
in the use of resources. This can only be done
if the private sector is increased in size. Gov-
ernment intervention in the economy should,
therefore, be minimised.

To what extent do you support this argument?
(25]
Q12 (J13/P4/Q7)

The market system is not able to allocate
resources efficiently.

Discuss this opinion. [25]

Q13 (N13/P4/Q4)

In the economic recession of 2011 many pri-
vate sector firms were still able to announce
that they were successful and had made sub-
stantial profits. Large bonuses were paid to
directors and shareholders received large divi-
dends.

Discuss whether it is better for an economy if
the allocation of resources is left entirely to the
private sector operating through the market
system. [25]

Q14 (J14/P4/Q3)

‘The profitability of firms is a measure of their
efficiency. The higher the profit, the greater the
efficiency. High profits should, therefore, be
encouraged.’

Do you support this argument? [25]
Q15 (J15/P4/Q7)

‘The free market is not the way to achieve a
sustainable, efficient use of economic re-
sources. Even the famous economist Adam

Q16

Q17

Q18

Q19

Q20

Q21

Discuss whether government inyg)y m
the economy might overcome the Weak ont
of the free market system. Nessey

(J16/P4/Q2) g

'Government economic policy is bage d o
Idea that people cannot be trusted {, hn the
what is good for them but instead s°met°°3°
choose things that are harmful to ‘hems[mes
or detrimental to the environment of ;Wes
Therefore a free market cannot alloca oth),

sources efficiently.’ te rg.

Do you support this argument? 25
(N16/P4/Q2)

It has been said that the aim in the allocat
of resources should be to achieve the qp, -

€a
happiness for the greatest number of geo;fest

Discuss whether economics has anythip to
say about the best way to maximise welfarg
from the use of resources. 23]

(J17/P4/Q7)

The driving force of some governments js t,
bring the benefits of competition to formery
monopolised markets.

(b) Discuss why competitive markets in the
private sector are not always the most effi
cient means of deciding how to employ a
country’s resources. 13]

(N17/P4/Q2)

(a) A country moved from a point within its
production possibility curve to a point on
its production possibility curve.

Explain what is meant by economic effi-
ciency. Analyse what happened to eco
nomic efficiency in that country as a result
of this movement. (2]

(b) Discuss whether government intervention
in the economy is a necessary and suff
cient condition for overcoming inemmer;GS);
in resource allocation. [

(J18/P4/Q7)

A free market economy operates to the ben
of both consumer and producer t0 ach";"ere "
most efficient outcome, and thereforé t:olling
no role for a government to play in ¢

the market. s

. . me
Consider the extent to which this state 29
correct.
(N18/P4/Q2)

Discuss whether economic efficienc
achievable in a market economy:

elit

. alway®
y IS al (251
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cover average varizble costs thzt th
production. However, in the long run the firm quits
if the price charged is below its per unit cosss (AC).
Hence, pricing to cover costs depends on the tims
period in consideration.
Also, policies to increase the size of the firm or the
firm's share of the market may involve heavy ad-
vertising or low prices to the detriment of equating
price with the costs. Nevertheless, if this results in
the firm becoming larger, with the growing share of
the market, the resulting economic power may en-
able the firm to charge a price consistent with its
costs.
Furthermore, not all firms operate with this objec-
live; there is provision in economic theory for al-
emative aims. For instance, firms in difficult time
rice their product with the objective of survival
nd may be prepared to bear loss for the time be-
18. Some other firms may not pursue the objective
f profit maximization at all and aim to achieve some
Iternative objectives such as social welfare. In
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< 0 compact discs (CDs) As
e NP e sas
pormuminy costs (M) of add-
T NS ,.i S Ire

fact that we obtain diminishing
{B) from additional units of

CD’s. Therefore, the second unit of a CD yields
less addiional utility (MU) or benefit (MB) than
the first. And a third will provide even less MB
than the second. Therefore, we can portray the
marginal benefits from CD's with a downward slop-
ing MB curve, as shown in the following figure,

Pl‘itmr
) [P MC

1] T S

10f-mmmapmmn

MB_

0 Q(000)

Shmmm e

The optimal quantity of CD's production is indi-
cated by the intersection of the MB and MC
curves: 200,000 units in the figure above. To prove
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this consider, If only 100,000 CD's were pr9duce<::
the marginal benefit of CD's would exceed its n.mht
ginal cost (MB>MC). In money terms, MB mlﬁ \
be $15, while MC is only $5. This suggests tcall)
society would be under-allocating resources to
production; more of it should be produced.

Since society values an additional CD as'bemg
worth $15, while the alternative products which the
required resources could produce are worth only
$5. Society benefits - it is better off in the sense
that it can enjoy, something worth $15 by forgc.)mg
something worth only $5. Net gains can be realized
until CD production increased to 200,000. A reallo-
cation of resources from other products to CD
would mean society is using its resources more
efficiently. Each additional CD up to 200,000 would
improve allocative efficiency. But when MB = MC,
the benefit of producing CD or alternative prod-
ucts with the available resources are equal, i.e.
allocative efficiency is achieved.

The production of 300,000 CD's would represent an
overallocation of resources. Here the MC of CD is
$15 and MB is $5 (MB<MC). At this level a CD is
worth only $5 for society whereas the alternative
product to which the resources could produce are
valued at $15. Therefore, society gains something
worth $15 by forgoing something worth $5. Net

gains can be realized until CD production can be
reduced to 200,000.

Hence resources are being efficiently allocated to
any product when its output is such that its mar-
ginal benefit equals its marginal cost (MB = MC).
The pricing policy suggested by Namabian gov-
ernment would ensure allocative efficiency but
does not guarantee social efficiency. In order to
achieve social efficiency resource allocation must
take place where marginal social benefits are equal
to marginal social costs (MSB = MSC) In other
words, in the absence of market fajlure MB =MC
results in general pareto optimality. But in certain
cases, the most obvious of them are merit and de-
merit goods and externalities, MB = MC fails to
achieve optimum use of scarce resources. For in-
stance, in the presence of externalities MSB exceed
MPB or MSC are higher than MPC.
Hence, MB = MC results in overallocation of re-
Sources when negative externalities exceed positive
exv.fr.nalities and underallocateg resources when
Positive externalities exceed negative externalities,
et e it covers ot
sarily ensure socially opti ol ool s ot neces.
ptimal level of output,

)
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Question 2

Large firms necessarily become monopolistic,
lies adopt practices that are undesirabe, Thereg
large firms should be regulated by BOVernmeny Org,

Discuss whether there is any truth in thig Aume,

)
[J08/P4/Q4]
—

Essay

Economists use the term market structyre
gest all the features that affect the bepqy;
performance of firms in a market. Whethe
firm adopts competitive or monopolistic behavig
depends on the extent to which the individyg firm
has power to influence market price and the terms
on which it sells its product. The more power t,
influence the market an individual firm enjoys the
more monopolistic behaviour it adopts, Alterna.
tively, the higher degree of competition erodes
market power of individual firms and makes them
to opt for competitive behaviour. Hence, behaviour
of a firm is mainly determined by the relative de-
gree of actual and potential competition in an in-
dustry rather than the size of the firm alone,

The degree of competition depends on several fac-
tors such as number of existing and potential firms,
ease of entry and exit and perfect or imperfect
knowledge. For instance, there may be small as
well as large firms operating in a perfectly competi-
tive environment yet the huge number of sellers
and enormity of the market suggest that none will
have enough market power to influence the price
through its own individual actions. Furthermore, in
an imperfectly competitive market such as oli
gopoly where industry is dominated by a handful
of big firms and each firm has enough market
Power to prevent its being a price taker, but each
firm is subject to enough inter-firm rivalry to pre-
vent it from opting monopoly behaviour. On the
other hand, even a small sized firm operating 3

a
sole producer of a certain product behaves 3
monopolist,

Finally, we can conclude that the behaviOUfl e"mar-
firm depends on its size relative to the WLhomtes.
ket and not the scale at which the firm ope

ies
The second part of the question that monost(:jle
adopt practices that are undesirable is also Sa mo-
to debate. According to economic theory indus-
nopoly exists when there is one firm In the rodu
try. It is characterized by selling a "'.“quihir mar-
and high entry barriers. Compared with T will be
ket structures, demand under monopo!y

to Suo.
our anqd
Ta large

f the
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relatively inelastic at each price. This gives mo-
nopolist substantial powers to <.:harge a high price.
Nevertheless, it is still constrained by its demand
curve i.e. arise in price will lower the quantity de-
manded. In order for a firm to maintain its mo-
nopoly position there must be barriers to the entry
of new firms. Barriers can be of various forms. Such
as economies of scale, high capital cost, legal bar-
riers and various marketing barriers.

As with firms in other market structure, a monopo-
jist will maximize profit where MR = MC. In figure
below profit is maximized at the price pm and out-

put OoQm.

As the degree of competition in an industry de-
creases, for example, a perfectly competitive indus-
try changes into a monopoly the demand curve for
the monopolist becomes steeper and less elastic at
each price. Firm's power to set price for its product
is strengthened unlike perfectly competitive mar-
ket where the demand curve of an individual firm is
perfectly elastic and all firms become price takers.

rice A
price Ty

o (o)

If there are constant long-run marginal costs the
sole seller will face the entire downward-sloping
demand curve. The monopolist therefore produces
at Qm and charges a price Pm. (MC = MR). We see,
then, that a monopolist charges a higher price and
produces less than an industry in a competitive
situation. Resources are misallocated in such a
situation - too few resources are being used in the

monopolist's industry and too many are used else-
Wwhere,

We can extend our analysis further to point out dif-
ferer!ce in consumer surplus and dead weight loss.
In Flgl."e above the area of consumer surplus is
;{:Ic lr‘thhe case of the perfectly c.ompetitive in-
Situart}i,'o 'hereas consumer surplus in a monopoly
curve sl': _lSkPmSVPc. The area under 'the d?mand
es e VnSn $ to YSPm. The monopolist gains thF
oren i}; defpnzj at the expense of consumers: this
area STV i"le as producer surplus. The trlangulér
tive markei Pgrt of consumer surpl.us in a competi-
o the mo;1 ut in mon.opoly neither consumers

opolist obtain this as a surplus: it is

lost to both parties. Thus, it is called the dead-
weight welfare loss arising from monopolies .

There are at least two additional costs associated
with monopoly. One involves the resources used
by individuals in order to obtain and maintain mo-
nopoly. society also ends up expending resources
in preventing monopolies or trying to break them
up. The other cost involves possible inefficiencies
within the monopoly firm i.e. monopolist is neces-
sarily X-inefficient. The notion that costs are not
minimized by effective management is called X-in-
efficiency.

So far our analysis is based on constant returns to
scale. But, of course, if monopolization results in
higher marginal cost, then the cost to society is
even greater. However, if monopoly results in cost
savings, then the cost to society is less.

The monopoly may be able to achieve substantial
economies of scale due to larger plant, centralised
administration and the avoidance of unnecessary
duplication (e.g. a monopoly gas company would
eliminate the need for several sets of rival gas pipes
under each street). If this results in an MC curve
substantially below that of the same industry un-
der competitive market, the monopoly will produce
a higher output at a lower price. In Figure below
the monopoly produces Q, at a price of P .

Compare this with price p, and output Q, when
market is perfectly competitive (QD=QS). Price will
be even higher than this and out put lower than
what monopoly produces ( MC=MR).

MC = supply (perfect competition)
MC

‘monopoly

0 Q2 Q Q& Q

This is possible only when the monopolists' MC
curve is below point x. It would benefit the society
even more if the monopolist is forced by the gov-
ernment to follow marginal cost pricing (P = MC).
The monopolist would charge the price P3, even
lower than P, and produce higher output i.e. Q3 .

Moreover, the monopolist can use part of its su-
pernormal profits for research and deyc-:lopment
and investment. It thus has a greater ability to be-
come dynamically efficient than has the small firm
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with limited funds. Also, a perfectly co'ntestable
monopoly earns only normal profits and is as fafﬁ-
cient as any other firm operating in a competitive
environment. .
Finally, society benefits from increasing comp?tl-
tion if it leads to cost saving but when competition
results in increasing costs then regulated mo-
nopoly is preferred.

In general, the arguments against monopolies seem
to outweigh any points in favour of monopolies,

therefore, it seems pertinent to conclude that mo- -

nopolies must be regulated to protect consumers
and more so for achieving efficiency.

Question 3

(@) Explain the market failure which arises from the
characteristics of public goods. [8]

() Discuss whether the use of cost-benefit analysis
helps to improve economic decision making. [12]

[N08/P2/Q3]

Suggested Answer:

(@ Market failure exists any and every time that a free
market left to its own devices and free from any
form of government intervention, fails to lead to
the best, or optimum use of scarce resources.

One such example is public goods. These are
goods or services, which are indivisible, and to
which the exclusion principle does not apply and
many individuals can jointly consume them simul-
taneously, at no additional cost,

A good must possess two distinguishing charac-
teristics if it is to be classified as public good:

1. I.t must be non-excludible. There is no effec-
tive way of excluding individuals from thejr

benefits once those goods come into exist-
€nce,

2. Itmust be non-rival, As more and more people
consume the product, the benefit to those al-
re}z:dy consuming the product is not dimin-
ished.

Fet's cf)nsider the example of a proposed project of
mstalltmg road lights on a busy crossing. The in-
stallation would be economically justified if its ben-
efits exceed its cost

once the lights are in Operation they would be ben-

®)

efiting all users. There would be p,, Pracg
to exclude any user from using tpe ligh Icy

These two features give rise to the free pi
lem; people receiving benefits from , oo

contributing to its cost. It entails , Situa“{]
which everyone believes that Others v, t
the burden of paying for publjc 800ds ¢ 8
national defense and streetlights, People rnaUCh'
for the provision of such goods, but the 4 Wig

may never be registered in the markey

Since the exclusion principle doeg n
these goods, private enterprises have n
incentive to supply them. Because these 2004
cannot be priced and sold, it would be unprofigy
for a private enterprise to allocate resource |,
them. So, we have these goods which yield g
stantial benefits but to which the market would fi|
to allocate resources. If society requires sy
goods, they must be provided by the public seqy
and financed by compulsory charges in the fom
of taxes.

0 €conon;,

In conclusion, it can be stated that provision of
public goods contributes to a nation's standard¢i
living therefore, there is a very strong case for hav
ing the government finance them.

Cost benefit analysis (CBA) provides a framewgrk
of appraising major investment proposals whid
generate important but controversial side effects
It is normally undertaken by government depart
ments, since it involves adding the external coslj
and benefits to the conventional private costs if
benefits. ‘
Economists recommend CBA as a means ?f'd?‘:ms
fying the right choices particularly in S-Itua"an
where there is a divergence between P“V‘“Z
social benefits and costs. As mentioned ﬂt;OVri'vaw
CBA approach differs from conventiona girstly.
sector investment appraisal in two way;.sal“‘”
CBA is an extended approach as it mcludc (ojeth
lated costs and benefits to the prop o-sevofves 3
not just private ones. Secondly, CBA ltn rices ¥
timated monetary values where marke P

not available. . the deve
We can identify four distinct ph?scj\; ) firs stﬂ?
opment of a cost-benefit analysis: sts and %
we need to identify all the relflt?d IC: oo both P
efits of a proposed project. This In° osts dm:,
vate costs and benefits and external © assi mow
efits. In the second phase, we need :i)lﬂ had?
etary value. Where these are not ave A e
prices of costs and benefits are S penefit® ﬂn. In
phase we estimate future costs an ques

tec
do so we use statistical forecasting
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| phase we arrange all inl’ormmio? to 'rcﬂccl
the fina pnc of the whole procedure, The impor-
the Ou.lco-l le is that if the valuce of benefits exceeds
tant ;;rll‘ll\s‘(l)’“hc costs, then the particular project is

the V able since it involves an overall net benefit to
desir S

the community. B
-onomists argue that the decision taken on the
E:’ZS of a complete cost-benefit approach are more
comprehensive and therefore more accurate repre-
sentation of society's welfare.

However, in practice, Cost-benefit analysis has
proved to be more difﬁcult'to v\{ork out. At the first
stage there can be a potential disagreement among
people as to which costs and benefits should be
included. There are particular problems when it
comes to determining external costs and benefits,
These are often controversial and not easy to
explain in clear manners and have the added diffi-
culty that it is not always possible to draw the line
in terms of a physical or geographical cut-off. For
example, construction of a particular motorway
also used by nationals of other countries as a tran-

sit facility would have costs and benefits reaching
across the borders.

Secondly, a potential disagreement may arise when
estimating spillover costs and benefits which are
not priced in the market such as noise and human

life. Errors in such estimates could affect the viabil-
ity of a project.

There is also a problem of deciding the cut-off
point for externalities and the time horizon. There
is always the temptation for interested parties to
extend the cut-off point or the time horizon in or-
der to justify particular preferences. Also, CBA is
of little importance where political decisions domi-
nate.

Finally, in order to compare the competing projects,

we have to reduce them to present values by dis-
counting future costs and benefits. But, there are
many different rates of interest.

The theoretical and practical difficulties outlined

above weaken CBA's effectiveness as a tool for
decision- making,

Nevertheless, CBA provides a rational
for appraisin

either non
make falg

Cise sum

technique
g projects where market information is

-existent or deficient. But, it must not

e claims for objectivity by dealing in pre-

s. While it is an aid to decision-making, it

18 "0t'a substitute for it. Its role is to present sys-

tsei:\atfcally all the information relevant to a deci-
)i

lh ndicating the weight which can be placed on
e accuracy of the calculations submitted
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Question 4

In India the post is delivered partly by private courier
firms and partly by the government-owned India Post.

The government is keen to increase its share of the
market.

(@) Explain why a government might wish to increase
its control over private firms. [10]

(b) Discuss whether an increase in government con-

trol necessarily improves efficiency in an
organisation. [15]

[NOS/P4/04]

Essay:

(@) In a free market economic system, scarce resources
are allocated through the price mechanism where
the preferences and spending decisions of con-
sumers and the supply decisions of businesses
come together to determine equilibrium prices. The
free market works through price signals. Day to
day, the free market mechanism remains a tremen-
dously powerful device for determining how re-
sources are allocated among competing ends.

However the government may choose to increase
its control over private firms largely on the
grounds of wanting to change the allocation of
resources and achieve what they perceive to be an
improvement in economic and social welfare.

The main reasons for increasing control by the
government are:

To correct for market failure.

To achieve a more equitable distribution of
income and wealth.

To improve the performance of the economy.

Market failure is when free market forces fail to al-
locate scarce resources efficiently. It often results
from consumers suffering from a lack of informa-
tion about the costs and benefits of the products
available in the market place. Government action
can have a role in improving information to help
consumers and producers value the 'true' cost and/
or benefit of a good or service. For instance, com-
pulsory labelling on cigarette packages with health
warnings to reduce smoking or improved nutri-
tional information on foods to counter the risks of
growing obesity.

These controls are designed to change the "per-
ceived" costs and benefits of consumption for the
consumer. They don't have any direct effect on mar-
ket prices, but they seek to influence "demand" and
therefore output and consumption in the long run.

T
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Some industries may require a more direct control
because these industries may create substantial
external benefits and costs. For instance, an un-
profitable railway line may ease congestion on
roads or a coal-fired power stations may pollute
the atmosphere and cause acid rain. If these indus-
tries are controlled by government, the decision
making will take account of externalities and hence
improve social efficiency. Also some industries re-
quire extensive planning and coordination to avoid
wasteful usage of scares resources. For instance
decisions in the coal, electricity, gas and oil require
coordination in order to optimize the use of these
exhaustible resources. Government control of
these industries will ensure that effective coordi-
nation is maintained and the decisions are made in
public interest.

Government control is desirable when market
power is concentrated in a small number of firms.
In these situations markets are not operating effi-
ciently because firms abuse their market power. For
instance, the dominant firm or group of firms, well
aware of their market power, might charge prices
that are considerably higher than the marginal cost
of production. This leads to an allocatively ineffi-
cient use of resources. Price is also unlikely to
equal minimum average cost, which leads to pro-
ductive inefficiency. Furthermore, dominant firm
may also exploit consumers by offering poor qual-
ity product or alternatively may use bundling in
which case consumers must buy other products
that are associated with their main product. Gov-
ernment can use standards and regulation or finan-
cial intervention in the form of price controls. In
some cases government may decide that market
efficiency is best achieved if the product is pro-
duced by state-owned firms.

For reason of equity certain loss making services
could be provided. For instance it could be argued
that rural bus services should be kept operating at
cross-subsidised prices and that certain needy
people should be charged lower prices. This is
easier to achieve when the industry is controlled
by government. Also at times government may
wish to control ailing industries not only to pro-
tect jobs in those industries but also in other re-
lated industries and in the local community. Certain
other industries such as weapons manufacturing
are controlled by governments to ensure that they
operate in the interest of the country.

.Lastly, government may wish to hold certain key
industries under control in order to make it easier
to manage the economy. For instance, governments
could attempt to restrain Wwages and keep the price

(b)

increase small as a way of controlling jio

Economic efficiency generally relates ¢,

an economy allocates scarce resoy

maximum wants of consumers. |t occurs %"‘hﬁ
ciety is using its scarce resources g = g
highest possible amount of goods and < " %
Economic efficiency entails allocative
tive efficiency.

An economy is said to achieve allocatiye
when right amount of scarce Tesources
cated to produce right products. I other wn
allocative efficiency occurs when the valye =
consumers place on a good or Service (om..
equals the cost of the resources (marginl{_;_:

used up in production. The technical Condition =
quired for allocative efficiency is that price :ﬁn:
ginal cost. When this happens economic Wit
measured in terms of consumer and producer s
plus is maximized. The graph below illostras

allocative efficiency.
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Situations where either P > MC or P <MC iz
inefficient allocation of resources. P > MC indicus
that fewer resources have been allocated than Wi
are required to achieve perfect allocation “’ﬁ"“‘
P <MC signifies that too many RSCU?@S;‘{“
been allocated for the production of parues¥
products.

Productive efficiency refers to firms' costs of ;f\\
duction and can be applied both to the st ni
and long run. Productive efficiency exisS “?Z
producers minimize the wastage of f“‘\u‘?‘ﬁ
their production process and is achieved “mtc,\«
output is produced at minimum averags K&
(ATC).

For an optimal allocation of resources
efficiency is a necessary but insufﬁdd}( ing IS
For instance, there is little point in produs™= 1.,\#
at lowest cost if they are not the P““\f“;\\ 8
valued by consumers. Thus allocative eﬂf\ v E““‘
also required. Finally it can be smlﬂf - i:\-t""{
lying on the PPC is productively "f_h‘-@l s
any point on PPC is possibly efficient "
allocation of resources.
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A failure of the free market and the price mec!m-
nism to deliver an allocatively efficient allo.catl.on
of scarce resources is normally regardfad as justifi-
cation for some form of govemment involvement
in the economy. This involvement is designed to
correct market failure and achieve an improvement
in economic and social welfare. Hence the quest
for efficiency provides rationales for increasing
government control of inefficient organizations.
Government can intervene by introducing compe-
tition policy or alternatively public ownership or
economic regulation of privately owned firms can
be used.

A simple efficiency analysis of a perfectly competi-
tive market and a monopoly is useful in determin-
ing the role of government. This is illustrated in the
graph below:

\

pricc

MC

A)ctitivc price

Pm

Po

AR

[

quantity

N 'MR

A perfectly competitive firm produces qo output
and would sell this at op. The resulting consumer
surplus would be the sum of areas 1,4 and 5. When
the industry is monopolized, price rises to pm and
consumer surplus falls to area 5. Area 4 is surplus
that is transferred from consumers to monopolist
due to rise in price whereas area 1 and 2 are lost
altogether and represent deadweight loss resulting
from monopoly and account for its allocative inef-
ficiency.

In addition survival of a firm in the long run under
perfect competition requires that it uses the most
efficient combination of inputs and techniques.
The monopolist, however, sheltered by barriers to
entry, can still make large profits even if it is not
using the least cost combination of inputs.

The analysis above clearly illustrates that perfect
competition is efficient and that monopoly, in gen-
eral, is not. However it is important to emphasize
that perfect competition is a theoretical ideal and is
not even closely resembled in most real world mar-
kets. l:lence there are many circumstances in which
the.re 1s room for government intervention in order
to increase the efficiency of market outcomes.

The clearest case is of natural monopoly-an indus-
try in which scale effects are so dominant that there
is room for at most one firm to operate at the mini-
mum efficient scale. They are found mainly in pub-
lic utilities, such as electricity transmission, cable
television and local telephone services. It is argued
that such industries must be controlled or regulated
by government to reduce inefficiencies.

Whether the government owns or merely regulates
such organizations, the pricing policy is deter-
mined by the government. The firms are typically
required to follow a pricing policy that conflicts
with their goal of profit maximization. When gov-
ernment dictates that the dominant organizations
set prices equal to marginal cost. In principle
atleast marginal cost pricing induces the
allocatively efficient level of output. However, it is
difficult to regulate the firms as marginal cost can-
not be measured with precision. Also a natural
monopoly, when producing the allocatively effi-
cient level of output, may be operating on the
downward sloping portion of its ATC curve. Con-
sequently price will be less than average total cost
leading to productive inefficiency. Similarly if the
firm operates where firms ATC curve is below its
MC curve marginal cost pricing will lead to produc-
tive inefficiency as price is higher than per unit
cost.

Alternatively, as part of competition policy, govern-
ment can prevent the merger of companies that
would potentially lead to one large organization
that is likely to dominate the market or else gov-
ernment can remove any artificial barriers that have
allowed certain firms to dominate the market.

However the critics argue that government inter-
vention does not always improve efficiency. They
believe that the pursuit of self interest, limited in-
formation and tendency to look for quick fixes
among politicians can result in a further loss of
allocative and productive efficiency. Even with
good intentions governments seldom get their
policy application correct. They can tax, control
and regulate but the eventual outcome may be a
deepening of the market failure or even worse a
new failure may arise.

In conclusion a well thought-out government in-
volvement may improve allocative efficiency in cer-
tain industries but it is difficult to calculate with
precision. But government involvement is less
likely to improve productive efficiency, particularly
in industries where unprofitable services are pro-
vided.

%‘L— o
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Question 5

A World Bank report in 2007 commenteq on the. con-
tinuing need for major spending worldwide on infra-
structure on everything from roads and railways to
water and electricity generation.

(®) Discuss whether an efficient allocation of resources
can be obtained only if large-scale investment is
undertaken by the public sector rather than the
private sector. [15]

[J09/P4/Q7(b)]

Essay

(b) The term efficiency in economics is to do with us-

ing scarce resources in the most effective way pos-
sible to meet the highest possible level of infinite
wants. The best possible use of resources implies
that two different types of efficiency are being
achieved, namely productive and allocative effi-
ciency. Productive efficiency is to do with using
least possible scarce resources to produce any
particular product hence it entails that production
takes place at the lowest possible cost. Whereas
allocative efficiency refers to the apportionment of
scarce resources among firms and industries to
obtain the production of the products most wanted
by society.
Productive efficiency does not ensure efficient al-
location of resources however productive efficiency
must be used to provide society with the “"right
goods", the goods consumers most want. There
would be little merit in an economy that produced
many products at very low cost that nobody par-
ticularly wanted and yielded little satisfaction.

In order to locate the efficient point on an
economy's production possibility curve econo-
mists recommend marginal analysis j.e. marginal
benefit and marginal cost of producing each prod-
uct. At the outset we need to understand that the
price of a product reflects marginal benefit derived
from the good whereas society's sacrifice of goods
that could have been produced instead represents
marginal cost. Hence it follows that in an economy

A large-scale investment on infrastructyre building
prograr.nme, Proposed by the World Bank, wi|| have

hing effects on the level of

the basis with which the economic acﬁvitic,
intcgrated in future. Ff)r instance, with the a;, :Tnb‘
ity of roads and.rall'way network, sPecd"b"‘
timely transportation 1s'madc POSsible, ‘herf
shortages and surpluses in commoditieg and ]c ore,
markets are quickly removed. Thyg 2 wel abey,
oped infrastructure is essential for eff; evey,

Icient y,
ing of markets. ork.

Whether large scale investment by the Privae "
tor on infrastructure can prove to be allocaﬁ;e’
efficient depends on the level of °°mpetiti0n iY
industries. If industries operate in a perfectly comr.a
petitive environment where profit Motivate fimg
produce each good or service to the point Where
price (marginal benefit) and marginal cogt are equy|
society's resources are allocated efﬁciently, Thé
competitive system not only maximizes profits f,
individual producers but simultaneously results
a pattern of resource allocation which maximize
consumer satisfaction. The invisible hand thus or.
ganizes the private interests of producers in a way
that is fully in accord with society's interest in allo.
cating scarce resources efficiently.

y and

However there are industries in which the degree
of competition may be low. The clearest case is of
natural monopoly — an industry in which scale
effects are so dominant that there is room for at
most one firm to operate at the minimum efficient
scale. They are found mainly in public utilities,
such as electricity transmission, cable television
and local telephone services. One response to such
industries is for government to assume ownership
of the single firm and invest. In these cases gov-
ernment appoints managers and directors who are
Supposed to set prices where efficient allocation (?f
resources is achieved. Another response to this Is
to allow private ownership but to regulate the
behaviour of monopolist.

But the opponents of government involvement I
large scale infrastructural building programme &
gue that even with good intentions governments
seldom get their policy application correct. e
Pursuit of self-interest amongst politicians g
civil servants can often lead to a misallocatic” ?o
resources. For example decisions about Wheredc-
build new road and railway network may be se-
cided with at least one eye to the political ¢t 0
quences. The pressures of a looming elcctlOnuPS
the influence exerted by special interest groia

can foster an environment in which inap p‘ropfv -
Spending decisions are made. - e.g. boosnn%)r‘ing'
fare spending in the run up to an election, (:jr'ng or
ing forward major items of capital spe" lbei"g
infrastructyral projects without the projects
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iected to @ full and proper cost-benefit analy-
sflbjoﬁen a government will choose to go ahead
s|§-h a project of policy without having the full
wie unt of information required for a proper cost-
:?;::ﬁt analysis. The result can .be inefficient allo-
cation of resources and damaging long-term con-
Sequenccs.
Whether the government owns or merely regulates
such organizations, the pricing policy is deter-
mined by the government. The firms are typically
required to follow a pricing policy that conflicts
with their goal of profit maximization. When gov-
emment dictates that the dominant organizations
set prices equal to marginal cost. In principle at
least marginal cost pricing induces the allocatively
efficient level of output. However, it is difficult to
regulate the firms as marginal cost cannot be mea-
sured with precision.

Question 6

1n 2007 the UK Competition Commission indicated that
failure in the market mechanism would result in both
winners and losers.

(@) Explain why producers are usually the winners and
consumers are usually the losers when the market
fails. (12]

() Discuss what the government might do when there

are losers because the market mechanism has
failed. [13]

[J10/P4/02]

Essay

(@ Market mechanism is the means by which deci-
sions of consumers and businesses interact to de-
termine the allocation of scarce resources between
different goods and services. It is based on the
theme that market forces of demand and supply are
a very effective mechanism for coordinating deci-
Sions of millions of consumers and produces. The
essence of market forces is that the price is deter-
mined where demand equals supply and thus re-
Sources are allocated in the optimal manner, That
'S, prices would equal marginal cost for all prod-
ucts, a necessary condition for allocative efficiency.
A.s° firms keep production costs as low as pos-
s'ble_ to obtain highest profit margin hence, pro-

Uctive efficiency will occur. Such results, how-

Sver, can only be obtained with perfect markets and
Perfect information,

| .

Market forces do all the good things that we have
discussed; yet there are many situations in which
these forces do not produce the best outcomes. In
these cases we say that markets have failed.

Market failure exists when the competitive outcome
of markets is not efficient from the point of view of
society as a whole. The result is a loss of economic
and social welfare. This is usually because the
benefits that the free-market confers on individu-
als or businesses carrying out a particular activity
diverge from the benefits to the society as a whole.

We now examine the situations in which the mar-
ket forces fail to achieve optimum allocation of
scarce resources.

The first of these situations occurs when firms fac-
ing downward sloping demand curves-whether a
monopoly or firms in an imperfect market - will
maximize profits at an output where price exceeds
marginal cost, hence leading to an inefficient allo-
cation of scarce resources. This is shown in the
graph below:

price1k
MC=S under perfect
Pml _l _____ competition
Ppl2--N\-- :L_3.__ a
4 15/
1
i
i\ ! AR(D)
i \!MR -
Q Qm Qp Quantity

Under perfect competition the price is determined
by market demand and supply forces, hence Pp is
the market price and the industry will sell Qp out-
put. The industry is said to achieve allocative effi-
ciency because P = MC. On the other hand a mo-
nopolist, for instance, will produce where MC=MR.
Thus it produces Qm output and will sell this at Pm
price. Clearly the monopolist produces where
MC < P, hence inefficient allocation of resources.
Thus the firm with market power uses fewer re-
sources and produces less output than the per-
fectly competitive industry. Also this lack of com-
petition reduces welfare of consumers because
they have a little choice available. So, overall soci-
ety will be worse off.

When it comes to find out who wins and who loses
in this particular situation we need to analyse con-
sumer and producer surplus. Consumer surplus is
the area between the price and demand curve i.e.
areas 1+2+3 when the market is perfectly competi-
tive. Producer surplus is the area between the price
and MC. i.e. areas 4+5 in perfect market. In a mo-
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nopoly situation the consumer surplus is only area
1 i.c. loss of surplus by the areas 2+3. Thus con-
sumers are the losers. Monopolist’s producer sur-
plus is arcas 244, This is clearly a larger surplus
than under perfect competition because arca 2 is
larger than area 5, thus monopolist gains.

Besides this,<m6n0p0|y has resulted in a loss of
total surplus of areas 3+5. This is known as dead-
weight loss of monopoly and reduces the welfare
of the whole society.

Besides imperfect markets, the existence of exter-
nalities also causes market farces to fail to alloc«'ftc
resource at socially optimum level. An externality
occurs whenever actions by firms or consumers
impose costs or confer benefits on others that arc
not involved in the transaction. The essence of the
problem created by externalities is that market
forces will lead to either too little or too much pro-
duction. With a positive externality, a competitive
free market will produce too little of the good and
with a negative externality it produces too much of
the good. Thus the presence of externalitics, cven
when all markets are perfectly competitive, leads to
allocatively inefficient outcomes.
Firms win again because the market forces fail to
take account of external costs imposed on socicty
and therefore, the producers get away without pay-
ing external costs. People who get affected by the
decisions of firms are losers.
Another important cause of market failure is imper-
fect information. The reason for this is that party
1o a transaction can ofien take an advantage by
shifting costs onto the other party. The other party
loses because they do not have the same informa-
tion. More generally, whenever either party to a
transaction lacks information that the other party
has, or is deceived by false claims, the outcome of
market forces changes and these changes may lead
to inefficiency.

Merit and demerit goods are a clear case of imper-
v

fect information. Consumers don’t perceive quite
well how good or bad a particular product is for
them: either they do not have the right information
or they simply lack some relevant information. The
problem is that their existence will cause market
forces 1o lead to an inappropriate amount of the
product being produced or consumed. In this case
as well the producers usually have more informa-
::'r':;f the cff(ﬁ:ts than consumers therefore con-
are usually seen to make | -
sumption, thus they Jons nappropriate con

*,
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demerit goods and products with negative exter-
nalities. This is particularly designed to increase
the opportunity cost of consumption and thereby
reduce consumer demand towards a socially opti-
mal level.

Subsidies to consumers will lower the price of merit
goods such as grants to students to reduce the
internal costs of staying on in full-time education.
They are designed to boost consumption and out-
put of products with positive externalities. While a
subsidy to businesses causes an increase in mar-
ket supply and leads to a lower equilibrium price
and higher quantity. The effectiveness of taxes
and subsidies depends on the price elasticity of
demand and supply.

In addition to providing the finance it is also pos-
sible for a government to take over the production
of a good or service, either in whole or in part.
State-owned industries are ofien referred to as na-
tionalized industries such as the electricity, coal
mining and railway industries are entirely owned
and managed by the state in many countries. It is
also very common to find some goods and ser-
vices being produced by both the state and the pri-
vate sectors. Education and health care are particu-
larly good examples of these types of service.

Often market failure results from consumers suffer-
ing from a lack of information about the costs and
benefits of the products available in the market
place. Government action can have a role in im-
proving information to help consumers and pro-
ducers value the ‘true’ cost and/or benefit of a
good or service.

Examples might include compulsory labeling on
cigarette packages with health warnings to reduce
smoking or else improved nutritional information
on high-fat foods to counter the risks of growing
obesity.

These programmes are designed to change the
“perceived” costs and benefits of consumption for
the consumer. They don’t have any direct effect on
market prices, but they seek to influence demand

and therefore the level of final output and con-
sumption,

In conclusion government can use any and all of
the measures discussed above in order to improve
allocation of resources. The choice depends on the
objective and the relative effectiveness of different
measures in the given situation.

Question 7

In 2009 there were huge fires in Australia which de-
stroyed much property and countryside. The govern-
ment promised to allocate a large amount of money and
resources to help with the restoration of the area.

(@) With the help of diagrams explain what is meant
by efficiency in the use of resources. [12]

() Discuss the economic implications of the
government’s approach to the situation. [13]

[N10/P4/Q2]

Essay

(a) Economic efficiency generally relates to how well
an economy uses its scarce resources to satisfy
maximum wants of consumers. It occurs when so-
ciety is using its scarce resources to produce the
highest possible amount of goods and services.
When economists use the term efficiency they ac-
tually mean allocative and productive efficiency.

An economy is said to achieve allocative efficiency
when right amount of scarce resources are allo-
cated to produce right products. In other words
allocative efficiency occurs when the value that
consumers place on a good or service (price)
equals the cost of the resources (marginal cost)
used up in production. The technical condition re-
quired for allocative efficiency is that price
=marginal cost. When this happens economic wel-
fare measured in terms of consumer and producer

surplus is maximized. The graph below illustrates
allocative efficiency.

price

;/CS

%
PS

o q

ol §

The optimum allocation of resources is where
QD = QS, producing an output oq at price op. So
the equilibrium in the market implies P =MC, hence,
generating maximum possible amounts of con-
sumer and producer surplus with the given supply
and demand curves. Situations where either P > MC
or P <MC imply inefficient allocation of resources
as illustrated in the graph below.
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P> MC indicates that fewer resources have been
allocated than what are required to achicve perfect
allocation. To prove this, consider if only 100,000
units were produced, the price would exceed its
marginal cost. In money terms, price might be $15,
while MC is only $5. This suggests that society
would be under-allocating resources (o the produc-
tion; more of it should be produced. Each addi-
tional unit up to 200,000 would increasc both con-
sumer and producer surplus indicated by triangle
A, hence would improve allocative cfficiency. But
when P = MC, the benefit of producing this prod-
uct and alternative products with the available re-
sources are cqual, i.c. allocative cfficiency is
achicved.

On the other hand P < MC signifies that too many
resources have been allocated for the production
of this product. In the graph above the production
of 300,000 units would represent an over allocation
of resources. Here the MC is $15 and price charged
might be $5. At this level a unit is worth only $5 for
socicty whercas the alternative product which the
same resources could produce is valued at $15.
Hence the shaded triangle B represents welfare loss
in terms of consumer and producer surplus from
the alternative product. Therefore net gains can be
realized until production can be reduced to 200,000.

Hence resources are being ef] ficiently allo-cated to

any product when its output is such that its price
cquals marginal cost.

Productive efficiency refers to firms’ costs of pro-
duction and can be applied both to the short run
and long run. Productive cfficiency exists when
producers minimize the wastage of resources j.e.
when they produce a product using the least pos-
sible resources or gencrating the lowest possible
per unit cost, The graph below shows this,

(b)

ACH AC,
\/ AC:
\\/ AC,
Z
0) Q output

In the figure above AC; indicates productive effi.
ciency. This means that the lowest possib|e cost
techniques of production are being used tq pro-
duce different level of output. All other Curves
above AC; indicate higher per unit cost hence rep-
resent productive inefficiency. The firm is sajq to
be producing at the optimum level when prodyc.
tion occurs at the lowest point indicated by point z
on the lowest average cost curve. Economists use
the term technical efficiency for this point.

For an optimal allocation of resources productive
efficiency is a necessary but insufficient condition,
For instance, there is little point in producing items
at lowest cost if they are not the products most
valued by consumers. Thus allocative efficiency is
also required. Finally it can be stated that any point
on the PPC is necessarily productively efficient
however a point on PPC is possibly efficient in
terms of allocation of resources.

Restoration of fire-stricken areas would require
considerable resources to be diverted from else-
where. Its economic implications depend on the
amount of resources required to restore these ar-
eas. However, whatever the amount of resources
needed they have to come from somewhere and
would definitely strain government’s budget.

A budget is an estimation of how much revenue
government expects to receive and how much
money it expects lo pay out, and with the expected
balance between the two. The government’s cur
rent receipts are revenues from taxes, and from
anything that it sells. Government’s current 0ut"
lays include the funds that it spends. A b?dge_t
deficit in any one-year is where governments ez;-
penditure exceeds its revenue from taxation. A b
get surplus is where tax revenues exceed centr
government expenditure.

Australian government will have to allocate CO:)]-
siderable amount of resources on restoration Pf
gram and therefore will have to raise finances- inly
magnitude of the restoration work would cenz:w
require the government to raise more M s are
through increasing taxation. But if the tax rat¢

p»»
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high and the economy i5 going through
omic period then it might not be pos-
es this higher (X rates discourage in-
d can cause an increase in outflow of
d capital for cconomic progress,

The other options include cithcr‘ a diversion of re-
cources from clsewhere or lun'ds g(':ncrulinn
through porrowing or both. Diversion of resources
(0 the devastatcd arcas means acut I?nck in spc!uL
ing on say other dcvc‘lopm.cnl projects, wcllu‘rc
ayments of defense. There 13 tl}t{s an opportunity
cost involved in terms of sacrificing say a con-
struction of dams, new schools and hospitals, mod-
crnization of armed forces or anything that could
have been produced from the same resources,
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The other option for the Australian government is
0 borrow funds by making a deficit budget. If the
govcmmcnt’s budget is in deficit, the shortfall must
be made up by borrowing funds. Thus the Austra-
lian government deficit has to be matched by an
equivalent amount of government borrowing,. 1 his
new borrowing would add to the country’s na-
tional debt which is the total of outstanding gov-
ernment debt. The government may borrow funds
from two main sources. First, it may borrow from
the private sector. Both households and private-
sector banks lend money to the government by
buying Treasury bills and government stocks. Sec-
ond, the government may borrow moncy from the
central bank. Borrowing from general public is not
inflationary but it increases interest rate and there-
fore discourages investment by crowding out the
private sector. However borrowing from other
sources would increase money supply and there-
fore would be inflationary.

A positive outcome of such a large scale restora-
tion program is that it might create much needed
jobs for the unemployed which will not only in-
crease incomes of the newly employed but will
have a multiple effect on Australian GDP.

?o far as the impact on trade balance is concerned
it depends on whether the restoration program
uses domestic resources or the country imports
resources such as capital, labour and raw material.
It might worsen trade balance if Australia imports
the required resources.

Finally the issue of efficiency will be of interest for
many'_ThiS means how efficiently the restoration
:Ii:: ': dqne. Pl{blic enterprises are usually crit.i-
belie or inefficiencies whereas private sector is
fo ved to use resources more efficiently. {‘here-

T¢It can be argued that efficiency level will de-
Pend on whether the work is contracted out t0 the
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private scetor or simply this task is assigned o the
public enterprises,

‘Thus it can be concluded that a widespread resto-
ration program will have important economic impli-
cations on the overall outlook of Australian
cconomy,

Question 8

lconomic analysis states that the aims of the
government include cconomic growth and economic
cfficiency.

(h) Is economic cfficiency better achieved by the

market mechanism rather than by government
microcconomic policy? [13]

INIO/P4/QT(b)]

Lssay

(b) Market mechanism is the means by which deci-

sions of consumers and businesses interact to de-
termine the allocation of scarce resources between
different goods and services. It is based on the
theme that market forces of demand and supply are
a very cffective mechanism for coordinating deci-
sions of millions of consumers and produces. The
essence of market forces is that the price is deter-
mined where demand equals supply and thus re-
sources are allocated in the optimal manner, That
is, prices would equal marginal cost for all prod-
ucts, a necessary condition for allocative efficiency.
Also firms keep production costs as low as pos-
sible to obtain highest profit margin hence, pro-
ductive efficiency will occur. Such results, how-
ever, can only be obtained with perfect markets and
perfect information.

Market forces do all the good things that we have
discussed; yet there are many situations in which
these forces do not produce the best outcomes. In
these cases we say that markets have failed.
Market failure exists when the competitive outcome
of markets is not efficient from the point of view of
society as a whole. The result is a loss of economic
and social welfare. This is usually because the
benefits that the free-market confers on individu-
als or businesses carrying out a particular activity
diverge from the benefits to the society asa whole.
The first of these situations occurs when finms fac-
ing downward sloping demand curves attempis w
maximize profits and produces an output Whaw
price exceeds marginal cost, hence leading & W
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inefficient allocation of scarce resources. This is
shown in the graph below:

Price ﬂ‘
MC=S$ under perfect
competition

Pm
Pp

AR(D)

MR >
0 Qm Qp Quantity
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Under perfect competition the price is determined
by market demand and supply forces, hence Pp is
the market price and the industry will sell Qp out-
put. The industry is said to achieve allocative effi-
ciency because P = MC. On the other hand a mo-
nopolist, for instance, will produce where MC=MR.
Thus it produces Qm output and will sell this at Pm
price. Clearly the monopolist produces where
MC < P, hence inefficient allocation of resources.
Thus the firm with market power uses fewer re-
sources and produces less output than the per-
fectly competitive industry. Also this lack of com-
petition reduces welfare of consumers because
they have a little choice available. Besides this,
monopoly has resulted in a loss of total surplus of
areas 3+5. This is known as deadweight loss of
monopoly and reduces the welfare of the whole
society.
Apart from imperfect markets, the existence of ex-
ternalities also causes market forces to fail to allo-
cate resource at socially optimum level. An exter-
nality occurs whenever actions by firms or con-
sumers impose costs or confer benefits on others
that are not involved in the transaction. The es-
sence of the problem created by externalities is that
market forces will lead to either too little or too
much production. With a positive externality, a
competitive free market will produce too little of the
good and with a negative externality it produces
too much of the good. Thus the presence of exter-
nalities, even when all markets are perfectly com-
petitive, leads to allocatively inefficient outcomes.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to‘a .transaction can often take an advantage by
shifting costs onto the other party. The other party
If)ses because they do not have the same informa-
tion. M?re generally, whenever either party to a
transact‘lon lacks information that the other party
has, or is deceived by false claims, the outcome of

market forces changes and th
to inefficiency. ese changes may lead

Merit and demerit goods are a clear cage of;

fect information. Consumers don't perceivlm .
well how good or bad a particular producte it
them: cither they do not have the right inf, rmls for
or they simply lack some relevant i"formationa"o"
problem is that their existence will cayge m' The
forces to lead to an inappropriate amount oi;rkct
product being produced or consumed. In th;g cthe
as well the producers usually have more infy, ;Se
tion of the effects than consumers therefore cOa.
sumer are usually seen to make inappropriate co:.
sumption, thus they lose. -
The role of the government is to intervene in mg.
kets that are not seen to be allocating resources i,
the most efficient manner. Government policy ang
methods of intervention can be summarized unger
four broad headings: regulation, financial interven.
tion, direct provision and improving informatiop,
The method chosen will depend to a large extent
on its effectiveness under the given circumstances,
Legal and other methods are used to control the
quality and quantity of goods and services that are
under and over produced by the market forces.

Financial intervention means the use of indirect tax
and subsidy to achieve optimum allocation of re-
sources. Indirect taxes such as changes in VAT and
excise duties can be used to raise the price of de-
merit goods and products with negative exterali-
ties. Subsidies to consumers will lower the price of
merit goods such as grants to students to reduce
the internal costs of staying on in full-time educa-
tion. In addition to providing the finance it is also
possible for a government to take over the produc-
tion of a good or service, either in whole or in part.
State-owned industries are often referred to as n&
tionalized industries such as the electricity, coal
mining and railway industries are entirely OW“e_d
and managed by the state in many countries. It 15
also very common to find some goods and ser-
vices being produced by both the state and the
private sectors. Education and health care ar¢ Par—
ticularly good examples of these types of service:

N .. H 'n.
Government action can have a role in |mpr0vmg|1ue
formation to help consumers and producers Vi;ce
the 'true’ cost and/or benefit of a good 0f servics:

Thus a failure of the free market mechanism 0 d:;
liver an allocatively efficient allocation Of_Scaror
resources is normally regarded alS_iIJStif_"ca“_0 "

some form of government intervention 1P
economy. This intervention is designed t0 €7,
for instances of market failure and achieve a0
provement in economic and social welfare:

N
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The use of cars causcs market failure, To af:hicve an
cfficient use of resources it would be bcller. if govern-
ments intervened to affect both the production and the
use of cars.
Explain the meaning of the terms ‘market failure’ and
‘the efficient use of resources’ and analyse whether
economic theory can be used to support this argument.
[25]

[J11/P4/02]

Essay

Efficiency generally relates to how well an economy
uses its scarce resources to satisfy maximum wants of
consumers. When economists use the term efficiency
they actually mean allocative and productive efficiency.

An cconomy is said to achieve allocative efficiency
when right amount of scarce resources are allocated to
produce right products. In other words allocative effi-
ciency occurs when the consumer valuation equals the
cost of the resources (marginal cost) used up in pro-
duction of a product. Thus the condition required for
allocative efficiency is price = marginal cost. When this
happens economic welfare measured in terms of con-
sumer and producer surplus is maximized. The graph
below illustrates allocative efficiency.

price 4

0

=Y

The optimum allocation of resources is where QD =Qs,
producing an output oq at price op. So the equilibrium
in the market implies P = MC, hence, generating maxi-
mum possible amounts of consumer and producer sur-
plus. Situations where either P > MC or P < MC imply

inefficient allocation of resources as illustrated in the
graph below,

Pfli;ég)) 4 welfare loss

when P>MC S(MC)

welfare loss

10 f=oamn when P<MC
She-eal 4 ___S
A
R N !
0 100 200 300

Q(000)

At the level of output of 100,000 cars, P>MC. It indi-
cates that fewer resources have been allocau.ed than
what are required to achieve perfect allocation 1.e.
P =MC. Thus each additional car up to 200,0(?0 \.vould
increase both consumer and producer surplus 'mdlcated
by triangle A, hence would improve_all?canve effi-
ciency. On the other hand P < MC signifies that foo
many resources have been allocated for'the production
of cars. In the graph above the production of 300,000
cars would represent an over allocation of resources.
Hence the shaded triangle B represents welfare loss in
terms of consumer and producer surplus from the altelr-
native product. Therefore net gains can be realized until
production can be reduced to 200,000 cars.

Hence resources are being efficiently allocated to any
product when its output is such that its price equals
marginal cost.

Productive efficiency refers to firms' costs of produc-
tion and can be applied both to the short run and long
run. Productive efficiency exists when producers mini-
mize the wastage of resources i.e., when they produce
a product using the least possible resources or gener-
ating the lowest possible per unit cost. The graph
below shows this.

ACH AC,
\_/ i
z
i
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In the figure above AC; indicates productive efficiency.
This means that the lowest possible cost techniques of
production are being used to produce different level of
output. All other curves above AC; indicate higher per
unit cost hence represent productive inefficiency. The
firm is said to be producing at the optimum level when
production occurs at the lowest point indicated by
point z on the lowest average cost curve. Econcmists
use the term technical efficiency for this point.

Market forces do all the good things that we have dis-
cussed; yet there are many situations in which these
forces do not produce the best outcomes. In the
cases we say that markets have failed.

Market failure exists when the competitive outcome of
markets is not efficient from the point of view of soci-
ety as a whole. The result is a loss of economic and
social welfare. This is usually because the benefits that
the free-market confers on individuals or businesses
carrying out a particular activity diverge from the ben-
efits to the society as a whole.
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The first of these situations occurs when firms facing
downward sloping demand curves — whether a mo-
nopoly or firms in an imperfect market — will maximize
profits at an output where price exceeds marginal cost,
hence leading to an inefficient allocation of scarce re-
sources. This is shown in the graph below:

MC=S under perfect
compctition

0 Qm Qp Q

Under perfect competition the price is determined by
market demand and supply forces, hence Pp is the mar-
ket price and the industry will sell Qp output. The in-
dustry is said to achieve allocative efficiency because
P =MC. On the other hand a monopolist, for instance,
will produce where MC = MR. Thus it produces QM
output and will sell this at Pm price. Clearly the mo-
nopolist produces where MC <P, hence monopoly re-
sults in a loss of consumer and producer surplus
shown by the triangular area 3 +5. Also lack of compe-
tition reduces welfare of consumers because they have
a little choice available. So, overall society will be
worse off.

Besides imperfect markets, the existence of externalities
also causes market forces to fail to allocate resource at
socially optimum level. An externality occurs whenever
actions by firms or consumers impose costs or confer
benefits on others that are not involved in the transac-
tion. The essence of the problem created by externali-
ties is that market forces will lead to either too little or
too much production. With a positive externality, a
competitive free market will produce too little of the
good and with a negative externality it produces too
much of the good. Thus the presence of externalities,
even when all markets are perfectly competitive, leads
to allocatively inefficient outcomes.

Another important cause of market failure is imperfect
information. The reason for this is that party to a trans-
action can often take an advantage by shifting costs
onto the other party. The other party loses because
they do not have the same information. More gener-
ally, whenever either party to a transaction lacks infor--
mation that the other party has, or is deceived by false
claims, the outcome of market forces changes and
these changes may lead to inefficiency.

Merit and demerit goods are a clear case of imperfect
information. Consumers don't perceive quite well how

N

|

Topic 2.1 o

good or bad a particular product is for them: o
do not have the right information or they ;ienherl .
some relevant information. The problem isThply gy
existence will cause market forces to Je, d1o at. i
propriate amount of the product being Prod inap,
consumed. uceq g,
A distinct type of market failure exists in cage of
goods. The issue here is not over and under anopul?lic
but weather resources are allocated at all, A gOOdCanon
possess three distinguishing characteristics ¢, qu"‘ll_lst
as public goods. It must be non-excludible, non_?
and non-rejectable. These features give rise to (e ﬁVal
rider problem: people receiving benefits from , ®
without contributing to its cost. Thus it develops ,
situation in which everyone believes that others Wil
take on the burden of paying for goods such as p,
tional defense and streetlights. People may wish for
provision of such goods, but the demand may neye
be registered in the market. Since the exclusion principle
does not apply to these goods, private enterprises
have no economic incentive to supply them. Becayse
these goods cannot be priced and sold, it would be
unprofitable for a private enterprise to allocate re-
sources to them. So we have these goods which yield
substantial benefits but to which the market would fail
to allocate resources.

The role of the government is to intervene in markets
that are not seen to be allocating resources in the most
efficient manner. Government policy and methods of in-
tervention can be summarized under four broad head-
ings: regulation, financial intervention, direct provision
and improving information. The method chosen will
depend to a large extent on its effectiveness under the
given circumstances.

As explained above, production of cars results in mar-
ket failure when prices of cars are lower than the o
portunity cost of resources used in their production
(MC). While the use of private cars can be treated B
market failure in that they possibly generate both post
tive and negative externalities. Positive exter nalities 10"
clude less crowded public transport with greater conr
fort for the users. In addition government general®
revenue from taxing the car users which could be USli_
to good effect for the whole society. Negative .e.\1er[rlfllso
ties include pollution from the smoke emission- n
too many cars on roads can cause road CO“gesnon;es
increase the possibility of accidents. I both c’m
market failures exist because too little or 0 man)
sources are allocated through market forces:

Governments are more likely to us€ ﬁna"mal.l o
tion and regulations in case of over a"?c'auofn m the
sources in production and externalities ar isin3 use of
use of cars. Financial intervention means1ta|locali0“

indirect tax and subsidy to achieve optimuft

R
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of resourves While the use of regnlations sitiily liws
rogulating the produotion and sonsmmption wf m pon
tn general the results o oost bonetit analysis In winy
countries Suggests that negative extoraalitios i ising
from the use of cars heavily owtweighs positive yiog
nalities theretbre thoy are a oase o over alloviting
Thus, unlike other positive oxternalitios whore sihsi
dies have been used, it has nover hoen sipnested thil
subsidies ought to be used to ineroase the positive ex-
temalities trom private car use, Rathor any subsiilios
given are used to make alternative publio wanspo
more attractive,

Therefore economic theory suggosts that governments
need to tax fisstly to reduce the production of vars (0
achieve allocative efticiency; although taxing produe-
tion might not result in productive efticiency, and seo-
ondly to decrease negative externalitios in their use. In
many economies indirect taxes such as VAT and exelse
duties are used to raise the prices of cars in order (o
achieve efficient allocation of resources and higher
road tax coupled with stricter regulations are helng in-
creasingly introduced in order to achieve socially opti-
mal usage level of cars. These measures are particularly
designed to increase the opportunity cost of con-
sumption and thereby reduce consumer demand (o-
wards a socially optimal level.

In conclusion it can be said that the economic theory
supports the view that production and use of cars can
result in market forces to fail in achieving efficient allo-
cation of scarce resources and therefore governments
have a role in affecting their production and use (o
socially optimum level.

Question 10

Analyse what is meant by economic efficiency and
assess whether efficiency is always achieved in a
market. [13]

INLLPHO2(D))

Essay

Efficiency generally relates to how well an
economy uses its scarce resources to satisfy maxi-
mum wants of consumers. When economists use
the term efficiency they actually mean allocative
and productive efficiency,

An economy is said to achieve allocative efliciency
when right amount of scarce resources are allo-
cated to produce right products. In other words
allocative efficiency occurs when the consumer

Tople 21 v page 1?

VI sttt (i copmt of the resentess (matginal
W) el D praduetion of 4 produet, ' hus the
I on fenuleed for slloeative efficiency is price
“1nniingl eoat. Whien this happets econotnic wel-
e imenanied 1 tepne of consutner and producer
alEplua 1s innadmized, ‘the graph below illustrates
illoentive efticiency.
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e optinium allocation of resources is where QD
=N, producing an output oq at price op. So the
oguilibetum in the market implies P =MC, hence,
generating maximum possible amounts of con-
simer ind producer surplus. Situations where ci-
(ther P=MC or P<MC imply inefficient allocation
ol resources ay illustrated in the graph below.
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At the level of output of 100,000 units, P>MC. It
indicates that fewer resources have been allocated
than what are required to achieve perfect allocation
L¢P MO Thus each additional unit up to 200,000
would increase both consumer and producer sur-
plus indicated by triangle A, hence would improve
allocative efliciency. On the other hand P <MC sig-
nilies that too many resources have been allocated
for the production of this product. In the graph
above the production of 300,000 units would rep-
resent an over allocation of resources. Hence tt

shaded trinngle B represents welfare loss in terms
of consumer and producer surplus from the alter-
native product, Therefore net gains can be realized
until production can be reduced to 200,000 units.

Henee resources are being efficiently allocated to

any product when its output is such that its price
equals marginal cost.
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Under perfect competition the price is determiy, ed
by market demand and SL.IPPI)’ forces, hence Py is
the market price and the lndust_ry will sell Qy out.
put. The industry is said to achieve allocative eff;_

ciency because P=MQ. On the other hand 3
nce, will produce where MC=pp

Productive efficiency refers to firms' costs of pro-
duction and can be applied both to the short run
and long run. Productive efficiency exists when
producers minimize the wastage of resources i.e.
when they produce a product using the least pos-

sible resources or generating the lowest possible
per unit cost. The graph below shows this.
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In the figure above AC; indicates productive effi-
ciency. This means that the lowest possible cost
techniques of production are being used to pro-
duce different level of output. All other curves
above AC; indicate higher per unit cost hence rep-
resent productive inefficiency. The firm is said to
be producing at the optimum level when produc-
tion occurs at the lowest point indicated by point z
on the lowest average cost curve. Economists use
the term technical efficiency for this point.
Market forces do all the good things that we have
discussed; yet there are many situations in which
these forces do not produce the best outcomes. In
these cases we say that markets have failed.

Market failure exists when the competitive outcome
of markets is not efficient from the point of view of
society as a whole. The result is a loss of economic
and social welfare. This is usually because the
benefits that the free-market confers on individu-
als or businesses carrying out a particular activity
diverge from the benefits to the society as a whole.

The first of these situations occurs when firms fac-
ing downward sloping demand curves — whether a
monopoly or firms in an imperfect market — will
maximize profits at an output where price exceeds
marginal cost, hence leading to an inefficient allo-
cation of scarce resources. This is shown in the
graph below:

MC=8 under perfect
competilion

nopolist, for insta o : .
Thus it produces Qum output and will sell this 5t P,

price. Clearly the monopolist F_"'Oduces wher,
MC <P, hence monopoly results in a loss of cop.
sumer and producer surplus shown b?/_the triangy.
lar area 3 +5. Also lack of competition reduces
welfare of consumers because Fhey h.ave a little
choice available. So, overall society will be worse

off.
Besides imperfect markets, the existence of exter-

nalities also causes market forces to fail to allocate
resource at socially optimum level. An externality
occurs whenever actions by firms or consumers
impose costs or confer benefits on others that are
not involved in the transaction. The essence of the
problem created by externalities is that market
forces will lead to either too little or too much pro-
duction. With a positive externality, a competitive
free market will produce too little of the good and
with a negative externality it produces too much of
the good.

Thus the presence of externalities, even when all
markets are perfectly competitive, leads to
allocatively inefficient outcomes.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. The other party
loses because they do not have the same informa-
tion. More generally, whenever either party to a
transaction lacks information that the other party
has, or is deceived by false claims, the outcome of
market forces changes and these changes may lead
to inefficiency.

Merit and demerit goods are a clear case of imper-
fect information. Consumers don't perceive quit¢
well how good or bad a particular product is for
them: either they do not have the right information
or they simply lack some relevant information. The
problem is that their existence will cause market
forces to lead to an inappropriate amount of the
product being produced or consumed.

In addition if markets are to work with full e.fﬁ-
ciency, then labour markets also must functiof
well. Only if labour is fully mobile will labour ma™
kets function efficiently. The problem is that '|abour
is often geographically and occupationally imm®"
bile. Therefore there persists a mismatch between
demand and supply of labour in various occupd”

4
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. oo and in different regions. This results in fur- Price .
::::Scaxamples of market failures. ($000) welfare loss S(MC)
the above We conclude that markets do not when P>MC
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se of resources. This can only be done if the private
”ecto" is increased in size. Government intervention in
5

the economy should, therefore, be minimised.

To what extent do you support this argument?  [25]
[J12/P4/Q7]

Essay

Efficiency generally relates to how well an economy
uses its scarce resources to satisfy maximum wants of
consumers. When economists use the term efficiency
they actually mean allocative and productive efficiency.

An economy is said to achieve allocative efficiency
when right amount of scarce resources are allocated to
produce right products. In other words allocative effi-
ciency occurs when the consumer valuation equals the
cost of the resources (marginal cost) used up in pro-
duction of a product. Thus the condition required for
allocative efficiency is price = marginal cost. When this
happens economic welfare measured in terms of con-
sumer and producer surplus is maximized. The graph
below illustrates allocative efficiency.

price 1 )
S(MQ)

=
‘\\\\
\

»P=MC

= T S,

0
The are:
Proed?,i;l,::l:: allocation of resources is where QD = QS,
in the market ?Utpl-lt ©0q at price op. So the equilibrium
mum possible w8 P =MC, hence, generating maxi-
Plus, Sityat; amounts 9f consumer and producer sur-
N 1ons where either P > MC or P <MC imply

Inefficie
Nt allocat; .
&ph bejoy, cation of resources as shown in the

At an output level of 100,000 units, P>MC. It indicates
that fewer resources have been allocated than what are
required to achieve perfect allocation i.e. P=MC. Thus
each additional unit up to 200,000 would increase both
consumer and producer surplus indicated by triangle
A, hence would improve allocative efficiency. On the
other hand P <MC signifies that too many resources
have been allocated for the production of this product.
In the graph above the production of 300,000 units
would represent an over allocation of resources. Hence
the shaded triangle B represents welfare loss in terms
of consumer and producer surplus from the alternative
product. Therefore net gains can be realized until pro-
duction can be reduced to 200,000 units.

Hence resources are being efficiently allocated to any
product when its output is such that its price equals
marginal cost.

Productive efficiency refers to firms’ costs of production
and can be applied both to the short run and long run.
Productive efficiency exists when producers minimize the
wastage of resources i.e when they produce a product
using the least possible resources or generating the low-
est possible per unit cost. The graph below shows this.

A
AC AC,
v A
\_/ AC"
z
| R
0 Q output

AC,; in the figure indicates productive efficiency. This
means that the lowest possible cost techniques of pro-
duction are being used to produce different level of
output. All other curves above AC; indicate higher per
unit cost hence represent productive inefficiency. The
firm is said to be producing at the optimum level when
production occurs at the lowest point indicated'by
point z on the lowest average cost curve. E:CODOmIStS
use the term technical efficiency for this point.

Private sector, without government intervention, oper-
ates through market forces of demand and supply.
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30n§umers indicate their willingness and ability to buy
partnc&nlar products through demand and firms, re-
sponding to their wishes, produce and supply those
goods. Thus the decisions about what to produce are
made by the people who will actually consume the
goods, thercfore, community’s productive resources
are allocated accordingly. Also firms keep production
costs as low as possible to obtain highest profit mar-
gin. So, private sector is said to be both allocatively
and productively efficient to a large extent.

Though market forces do all the good things yet there
are many situations in which these forces do not pro-
duce the best outcomes. In these cases we say that
markets have failed to operate efficiently.

Market failure exists when the competitive outcome of
markets is not efficient from the point of view of sOCi-
ety as a whole. The result is a loss of economic and
social welfare. This is usually because the benefits that
the free-market confers on individuals or businesses
carrying out a particular activity diverge from the ben-
efits to the society as a whole.

The first of these situations occurs when firms facing
downward sloping demand curves - whether a mo-
nopoly or firms in an imperfect market - will maximize
profits at an output where price exceeds marginal cost,
hence leading to an inefficient allocation of scarce re-
sources. This is shown in the graph below:

MC =S under perfect
competition

Pm

Pp

0 Qm Qp Q

Jnder perfect competition the price is determined by
narket demand and supply forces, hence Pp is the mar-
et price and the industry will sell Qp output. The in-
lustry is said to achieve allocative efficiency because
> =MC. On the other hand a monopolist, for instance,
vill produce where MC = MR. Thus it produces QM
utput and will sell this at Pm price. Clearly the monopo-
ist produces where MC <P, hence monopoly results in a
0ss of consumer and producer surplus shown by the
riangular area 3 + 5. Also lack of competition reduces
velfare of consumers because they have a little chgice
wailable. So, overall society will be worse off. !

3esides imperfect markets, the existence of externalities
Iso causes market forces to fail to allocate resource at

Topic 21 o
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socially optimum level. An exten:nality 0CCUrS e
actions by firms or consumers Impose costs or o e
benefits on others who are not directly involyeq i Nfer
transaction. The essence of the problem cfcater:]the
externalities is that market forces will lead tq Cither

little or too much production. With a positive CXtert

ity, a competitive free market will produce toq littl:al.
the good and with a negative externality it producof
too much of the good. Thus the presence of eXteman
ties, even when all markets are perfectly compeig i«

. 14 : v
leads to allocatively inefficient outcomes. ¢,

Another important cause of market failure is imperfegy
information. The reason for this is that party to a try,.
action can often take an advantage by shifting costs
onto the other party. The other party loses because
they do not have the same information. More geper.
ally, whenever either party to a transaction lacks info.
mation that the other party has, or is deceived by false
claims, the outcome of market forces changes and these
changes may lead to inefficiency.

Merit and demerit goods are a clear case of imperfect in-
formation. Consumers don’t perceive quite well how
good or bad a particular product is for them: either they
do not have the right information or they simply lack
some relevant information. The problem is that their ex-
istence will cause market forces to lead to an inappropri-
ate amount of the product being produced or consumed.

A distinct type of market failure exists in case of public
goods. The issue here is not over and under allocation
but weather resources are allocated at all. A good must
possess three distinguishing characteristics to qualify
as public goods. It must be non-excludible, non-rival
and non-rejectable. These features give rise to the free
rider problem; people receiving benefits from a good
without contributing to its cost. Thus it develops 2
situation in which everyone believes that others il
take on the burden of paying for goods such as na
tional defense and streetlights. People may wish for the
provision of such goods, but the demand may never
be registered in the market. Since the exclusion prinC_lPIe
does not apply to these goods, private enterprises
have no economic incentive to supply them. Becaust
these goods cannot be priced and sold, it would b€
unprofitable for a private enterprise t0 allocate_f:
sources to them. So we have these goods which ylel‘I
substantial benefits but to which the market would i
to allocate resources. .
ctor on 18

In conclusion it can be stated that private ST oy
own cannot achieve economic efficiency in a”_d'ffesr in
areas of an economy and therefore, market falluriev v
particular, provide a justified economic rolff for .goss
ment. However, government intervention In e‘\c;:mar-
market failures could hamper the efficient role 0
kets and might create further inefficiencies.

_—
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The market system is not able to allocate resources

cfficiently.

Discuss this opinion. 25]
[J13/P4/Q7]
Essay

Owing to the basic economic problf:rr! of scarce re-
sourc;s and unlimited wants, all socnetu':s must make
choices. These choices involve allocatlon. of scarce
resources among alternative uses to achieve given
ends. Resources are typically called factors of produc-
tion. They include land, labour, capital and enterprise.
These are all inputs used in the production of all those
goods and services that we want.

A market system is associated with the capitalist ideol-
ogy where all resources are privately owned. Hence all
economic decisions are made by individual households
and firms who act in their own self interest. The es-
sence of a market system is price mechanism, often
quoted as “invisible hand”. Operating on its own, with-
out government intervention, price mechanism allo-
cates resources through million of decisions taken each
day by consumers and businesses. This system oper-
ates through signaling where a rise or fall in prices
eliminates shortages and surpluses. This means that
market prices will automatically adjust to where re-
sources are required and where they are not required.
Thus resources are allocated and reallocated according
to the preferences of consumers and therefore consum-
ers are said to be sovereign. So it is believed that ap-
parently chaotic system of millions of transactions
would not only allocate resources but it would do it ef-
ficiently,

Efficiency, on the other hand, generally relates to how
welllan economy uses its scarce resources to satisfy
Maximum wants of consumers. When economists use

the term efficiency they actually mean allocative and
Productive efficiency,

:E(:‘:;zﬁiny is said to achieve allocative efficiency
Producer g;ltnount of scarce resources are allocated to
ciency occurspr%ducts. In other words allocative effi-
Producy equalswthen the consumer valuation (P) of a
U in ts o de cost of resources (marginal cost)

for allocativg :ﬁ?c;;téor}. Thus the condition required
. mea)s/ulrsez inl\;IC. When this happens

erms of consumer and

is maximj .
lrateg allocatjye eﬁicizig;/"zed. The graph below ilus-

;*

Q

The optimum allocation of resources is where QD = QS,
producing an output Oq at price Op. So the equilibrium
in the market implies P =MC, hence generating maxi-
mum possible amounts of consumer and producer sur-
plus. A situation where either P>MC or P <MC implies

inefficient allocation of resources. Following graph il-
lustrates these cases.

Price A
($000) welfare loss
when P>MC S(MC)
11 SR N S
welfare loss
10F----- : when P<MC
I
1
I
e T
1 \ ]
: ! ! D
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At an output of 100 units P> MC and, therefore, it in-
dicates that fewer resources have been allocated than
what are required to achieve perfect allocation i.e.
P=MC. So an increase in output up to 200 units would
increase both consumer and producer surplus indicated
by triangle A and hence would improve allocative effi-
ciency. On the other hand P < MC signifies that too
many resources have been allocated for production. In
the graph above the production of 300 units, for in-
stance, suggests over allocation of resources. The
shaded triangle B represents welfare loss in terms of
consumer and producer surplus from the alternative
product. Therefore net gains can be realized until pro-
duction can be reduced to 200 units. Thus it follows
that the resources are efficiently allocated to produce a
product when its output is such that its price equals
marginal cost.

Productive efficiency refers to firms’ costs of produc-
tion and can be applied both to the short run and l9ng
run. Productive efficiency exists when producers mini-
mize the wastage of resources i.e. when they produce a
product using the least possible resources or generat-

ing the lowest possible per unit cost. The graph below -

shows this.

o
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AC A AC,
\_/ AC,
\/ AG
z
‘l .
0 Q output

In the figure above AC, indicates productive efficiency.
This means that the lowest possible cost techniques
of production are being used to produce different level
of output. All other curves above AC, indicate higher
per unit cost hence suggest productive inefficiency.
Furthermore, the firm is said to be producing at the
optimum level when production occurs at the lowest
point indicated by point z on the lowest average cost
curve. Economists use the term technical efficiency for
this point.
The theory of firm predicts that each firm in a perfectly
competitive market produces at the lowest point on its
LRAC curve and it is not possible for any one firm to
reduce its cost any further by altering its output. Every
firm in perfect competition is therefore productively
efficient. This is shown in the graph below.

price T

MC
AC

[

AR=MR(perfect competition)

AR(imperfect competition)

.

0 q qp output
It can be analyzed from the graph that perfectly com-
petitive firms maximize profits by equating marginal
cost to price. Thus, when perfect competition is the
market structure for the whole economy, price is equal

to marginal cost in each line of production resulting in
allocative efficiency.

On the contrary, a profit maximizing firm operating un-
der imperfect market conditions the firm will maximize
profits at an output (q) where price exceeds marginal
cost, hence leading to an inefficient allocation of scarce
fesources, Also the firm produces at the decreasing
Part of AC curve, it is, therefore, productively ineffi-
cient. The higher average cost in production means
that the firm is not making optimum use of scarce re-
sources. Thus under these conditions, market fails to

Pag, %

achieve economic efficiency and therefO,e
case for government intervention througp,
policy or market regulation.

In other cases market failure exists whep even

petitive outcome of markets is not effic; ent fr: Com,
point of view of society as a whole. The regy,, i the
of economic and social welfare generally Knowp g
cial inefficiency. This is usually because the ber 50-
that the free-market confers on individualg or beﬁgs
nesses carrying out a particular activity diverge frUSL
the benefits to the society as a whole. om

n’lay be
q
OmPEtili()n

The existence of externalities, for instance, causes p,
ket forces to fail to allocate resource at social| .
mum level. An externality occurs whenever actiong by
firms or consumers impose costs or confer benefits g
others that are not involved in the transaction_ The
essence of the problem created by externalities i that
market forces will lead to either too little or toq Much
production. With a positive externality, a competitiye
free market will produce too little of the good and i,
a negative externality it produces too much of the good,
Thus the presence of externalities, even when all mg.
kets are perfectly competitive, leads to allocatively ip.
efficient outcomes.

Y opti.

Another important cause of market failure is imperfect
information. The reason for this is that party to a trans-
action can often take an advantage by shifting costs
onto the other party. The other party loses because
they do not have the same information. More gener-
ally, whenever either party to a transaction lacks infor-
mation that the other party has, or is deceived by false
claims, the outcome of market forces changes and these
changes may lead to inefficiency.

Merit and demerit goods are a clear case of imperfect
information. Consumers do not perceive quite well how
well or bad is a particular product for them: either they
do not have the right information or they simply lack
some relevant information. The problem is that imper-
fect information causes market forces to lead to a0 "
appropriate amount of merit and demerit goods bein
produced or consumed.

A distinct type of market failure exists in casé o puz:f)
goods. The issue here is not over and under a”odc;:nusl
but weather resources are allocated at all..A goo Lalif
possess three distinguishing characteris!.lcs to (:‘ .riv;
as public goods. It must be non-cxcludn‘ble, nf:h e
and non-rejectable. These features give rise ag
rider problem; people receiving benefits from © >
without contributing to its cost. Thus 1
situation in which everyone believes tha s 1
take on the burden of paying for goods su&;ion i
tional defense and streetlights. Since the exclu

2]
- ate enterP™
ciple does not apply to these goods, pf ivate ©

e



e

A Level Economics (Essays)

Topic 21 © page 25

o economic incentive to supply them. So we
oods which yield substantial benefits but to
ket system fails to allocate resources.

have D
have &
which the mar
conclusion it can be stated .that m.arket system
h allocates resources efficiently in most cases
‘ho?gfails to achieve socially desirable outcome in cer-
a¥. ituations known as market failures. Thus there is
o :tiﬁed economic role for government. However,
a OJ“:emment intervention in excess of market failure
gould hamper the efﬁcien.t role of markets and therefore
create further inefficiencies.

Question 13

[n the economic recession of 2011 many private sector
firms were still able to announce that they were suc-
cessful and had made substantial profits. Large bo-
nuses were paid to directors and shareholders received
large dividends.

Discuss whether it is better for an economy if the allo-
cation of resources is left entirely to the private sector
operating through the market system. [25]

[NI3/P4/04]

Essay

Owing to the basic economic problem of scarce re-
sources and unlimited wants, all societies must make
choices. These choices involve allocation of scarce re-
sources among alternative uses to achieve given ends.
Resources are typically called factors of production.
They include land, labour, capital and enterprise. These
are all inputs used in the production of all those goods
and services that we want.

Private sector operates through market system that is
associated with the capitalist ideology where all re-
sources are privately owned. Hence economic deci-
sions are made by individual households and firms who
act in their own self interest. The essence of private
sector is price mechanism, often quoted as “invisible
hand”. Operating on its own, without government in-
tervention, price mechanism allocates resources
through million of decisions taken each day by con-
Sumers and businesses. This system operates through
Signaling where a rise or fall in prices eliminates short-
8ges and surpluses. This means that market prices will
automatically adjust to where resources are required
and where they are not required. Thus resources are
:‘)‘t!‘:;i:ed and reallocated according to the preferences
o sumers .al'.ld the.refore consumers are said to be

ereign. So it is believed that apparently chaotic sys-

tem of millions of transactions would not only allocate
resources but it would do it efficiently.

Efficiency, on the other hand, generally relates to how
well an economy uses its scarce resources to satisfy
maximum wants of consumers. A market is said to
achieve allocative efficiency when right amount of
scarce resources are allocated to produce right prod-
ucts. In other words allocative efficiency occurs when
the consumer valuation (P) of a product equals the cost
of resources (marginal cost) used up in its production.
Thus the condition required for allocative efficiency is
p = MC. When this happens economic welfare mea-
sured in terms of consumer and producer surplus is
maximized. The graph below illustrates allocative effi-
ciency.

price 4

S(MC)

0 q Q

The optimum allocation of resources is where QD=QS,
producing an output oq at price op. So the equilibrium
in the market implies P=MC, hence generating maximum
possible amounts of consumer and producer surplus.
A situation where either P > MC or P < MC implies
inefficient allocation of resources. Following graph il-
lustrates these cases.

Price A
($000) welfare loss .
when P>MC S(MC)
I5F---->-f-ccoenaao
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At an output of 100 units P >MC and, therefore, it in-
dicates that fewer resources have been allocated than
what are required to achieve perfect allocation i.e.
P=MC. So an increase in output up to 200 units would
increase both consumer and producer surplus indicated
by triangle A and hence would improve allocative effi-
ciency. On the other hand P < MC signifies that too
many resources have been allocated for production. In
the graph above the production of 300 units, for in-

stance, suggests over allocation of resources. The
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shaded triangle B represents welfare loss in terms of
consumer and producer surplus from the alter{mtlve
product. Therefore, net gains can be realized until pro-
duction is reduced to 200 units. Thus it follows that the
resources are efficiently allocated to produce a prod-
uct when its output is such that its price equals mar-
ginal cost. .
The theory of firm predicts that in a perfectly competi-
tive market the demand curve of an individual firm l?e-
comes perfectly elastic therefore all firms be'cgme.pnce
takers. However, as the degree of competition is re-
duced, a perfect market, for instance, changes intq im-
perfect market or monopoly, the demand curve for m.dl-
vidual firms becomes stecper i.e. downward sloping
from left to right. Firm’s power to set price for its prod-
uct is strengthened. Consider the following graph.

price?

Y Monopolists' profit

Deadweight loss

T LRMC=LRAC

Y

0 Q. Qc Q

Assuming there are constant long-run marginal costs
the sole seller will face the entire downward-sloping
demand curve. The monopolist, therefore, produces at
Qn, and charges a price P_.(MC=MR) Now we assume
that the degree of competition improves and market
becomes perfectly competitive also the costs stay the
same then the equilibrium price will be P_and the equi-
librium quantity supplied and demanded will be Q.. We
see, then, that a monopolist charges a higher price and
produces less than an industry in a competitive situa-
tion. Resources are inefficiency allocated in such a situ-
ation - too few resources are being used in the
monopolist’s industry and too many are used else-
where.

N

We can extend our analysis further to point out differ-
ence in consumer surplus and dead weight loss. In fig-
ure above the area of consumer surplus is YTP ¢ in the
case of the perfectly competitive industry. While in a
monopoly situation the area of consumer surplus
shrinks to YSP, . The monopolist gains the area P_VSP
at the expense of consumers: this area adds to prolll
ducer surplus and therefore labeled as abnormal profit
earned by the monopolist, The triangular area STV js
part of consumer surplus in a competitive market, But
in monopoly neither consumers nor the monopolist

h
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obtain this as a surplus: it is lost to both

artd
se of this it is called the deadweight ,, ies.

cau elfare lg
s

arising from monopolies.
So in a private sector it is possible that

earn abnormal profit and therefore result i, inef, g
allocation of resources. However, it does noy nececslent
ily indicate that the p.rlvate'market system is o . Ssér.
able means of allocation. High profits could well g, Uit.
ate further investment, income and employmep, ner.
In other cases market failure exists when evep ¢, com
petitive outcome of markets is not efficient frq, thé
point of view of society as a whole. The result js , loss
of economic and social welfare generally knowp 4 &
cial inefficiency. This is because the benefits thy the
free-market confers on individuals or businesses carry.
ing out a particular activity diverge from the benefis to
the society as a whole.

The existence of externalities, for instance, causes mg.
ket forces to fail to allocate resource at socially opti-
mum level. An externality occurs whenever actions by
firms or consumers impose costs or confer benefits gn
others that are not involved in the transaction. The
essence of the problem created by externalities is that
market forces will lead to either too little or too much
production. With a positive externality, a competitive
free market will produce too little of the good and with
a negative externality it produces too much of the good.
Thus the presence of externalities, even when all mar-
kets are perfectly competitive, leads to socially ineffi
cient outcomes.

pTiVate ﬁl’

Another important cause of market failure is imperfect
information. The reason for this is that party to a trans-
action can often take an advantage by shifting costs
onto the other party. The other party loses becaust
they do not have the same information. More gener
ally, whenever either party to a transaction lacks infor
mation that the other party has, or is deceived by fals
claims, the outcome of market forces changes and these
changes may lead to inefficiency.

Merit and demerit goods are a clear case of imperfec
information. Consumers don’t perceive quite well ho¥
good or bad a particular product is for them: either the)j
do not have the right information or they Simpl.y lacr-
some relevant information. The problem is that lmp‘en-
fect information causes market forces to lead t0 o ‘lna
appropriate amount of merit and demerit goods bet®™
produced or consumed.

. plic
A distinct type of market failure exists in case O P*.

Eoods. The issue here is not over and under a“c::;ﬂ“'st
0 e
ut weather resources are allocated at all. A8 q aliy

Possess three distinguishing characteristics © l jval
as public goods, It must be non-excludible; noﬂe frec
a'nd non-rejectable. These features give rise 1© a 500
rider problem; people receiving benefits from
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without contributing to its cost. Thus it develops a
situation in which everyone believes that others will
take on the burden of paying for goods such as na-
tional defense and streetlights. Since the exclusion
principle does not apply to these goods, private enter-
prises have no economic incentive to supply them. So
we have goods which yield substantial benefits but to
which the market system fails to allocate resources.

In conclusion it can be stated that private sector,
though allocates resources efficiently in most cases
yet it fails to achieve socially desirable outcome in cer-
tain situations known as market failures. Thus there is
a justified economic role for government. However,
government intervention in excess of market failure
could restrict the efficient role of markets.

Question 14

‘The profitability of firms is a measure of their
efficiency. The higher the profit, the greater the
efficiency. High profits should, therefore, be

encouraged.’
Do you support this argument? [25]

[J14/P4/Q3)

Essay

Efficiency generally relates to how well an economy
uses its scarce resources to satisfy maximum wants of
consumers. When economists use the term efficiency
they actually mean allocative and productive efficiency.

An economy is said to achieve allocative efficiency
when right amount of scarce resources are allocated to
produce right products. In other words allocative effi-
ciency occurs when the consumer valuation (P) of a
product equals the cost of resources (marginal cost)
used up in its production. Thus the condition required
for allocative efficiency is p =MC. When this happens
economic welfare measured in terms of consumer and
producer surplus is maximized. The graph below illus-
trates allocative efficiency.

A

ice 4
price S(MC)

ok

Qv

The optimum allocation of resources is where QQ = QS,
producing an output oq at price op. So the equillbrlum
in the market implies P =MC, hence gencrating maxi-
mum possible amounts of consumer and producer sur-
plus. A situation where either P>MC or P < MC implies
inefficient allocation of resources. Following graph
illustrates these cases.

Price e |
($000) welfare loss S(MC
when P>MC 7 PME)
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At an output of 100 units P > MC and, therefore, it
indicates that fewer resources have been allocated
than what are required to achieve perfect allocation i.e.
P=MC. So an incrcasc in output up to 200 units would
increase both consumer and producer surplus indicated
by triangle A and hence would improve allocative effi-
ciency. On the other hand P <MC signifies that too
many resources have been allocated for production. In
the graph above the production of 300 units, for in-
stance, suggests over allocation of resources. The
shaded triangle B represents welfare loss in terms of
consumer and producer surplus from the alternative
product. Therefore, net gains can be realized until pro-
duction is reduced to 200 units. Thus it follows that the
resources are cfficiently allocated to produce a product
when its output is such that its price equals marginal
cost.

Productive efficiency refers to firm's costs of produc-
tion and can be applied both to the short run and long
run. Productive efficicncy exists when producers mini-
mize the wastage of resources i.c when they produce a
product using the least possible resources or generat-
ing the lowest possible per unit cost. The graph below
shows this.

<A
AC AC,
v i
\_/ AC\
z
|
0 Q output

AC,, in the figure indicates productive efficiency. This
means that the lowest possible cost techniques of
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production are being used to produce different levels
of output. All other curves above AC 3 indicate l.ngher
Per unit cost hence suggest productive inefficiency.
Furthermore, the fim is said to be producing at the op-
timum level when production occurs at the 10\\(est
point (z) on the lowest average cost curve. Economists
use the term technical efficiency for this point.

The traditional theory of firm holds that firms pursue
the goal of profit maximization. This can be achieved
when the firm is producing at an output where the
positive difference between total revenues and total
costs is the greatest. Alternatively it can also be ana-
lyzed using marginal concept. Thus the firm earns maxi-
mum possible profit where marginal cost (MC) equals
marginal revenue (MR). MC is the cost of producing
one extra unit while MR is the revenue earned from
selling an extra unit. So, as long as MR > MC produc-
tion of each next unit increases the firm’s profit and
therefore it maximizes profit when its output reaches
where MC =MR. If ouput expands beyond this
then MR ? MC that means the cost of producing an
extra unit is higher than the revenue eamed from its
sale. It, therefore, reduces firm’s total profit. Thus it
follows that the firm, in order to earn highest possible
profit, tends to expand output to the level where its MR
=MC.

The direct link between efficiency and profit levels de-
pends on the type of market. The theory of firm pre-
dicts that each firm in a perfectly competitive market
maximses profit when it produces at the lowest point
on its LRAC curve and it is not possible for any one
firm to reduce its cost any further by altering its out-
put. Every firm in perfect competition, therefore, is pro-
ductively efficient. This is shown in the graph below.

MC
LRAC

! AR=MR

) : (perfect competition)
N

i MR | AR (imperfect competition)

O 1 /| .
q qp Q

A perfectly competitive firm faces a perfectly elastic
demand curve (AR = MR) and its MC intersects MR at
point’ e’ therefore its profit maximizing output is qp
where it achieves both the highest possible profit and
productive efficiency. It can also be analyzed that at the
same output level the firm equates marginal cost and
price. Thus, when perfect competition is the market
structure for the whole economy, price equals marginal
cost in each line of production results in allocative ef-
ficiency. Therefore in case of perfect competition firms

T — —p... a‘
should be encouraged to MaXimize Profit i,
achieve greater efficiency. Ofdlgy N

On the contrary, a profit maximizing firm ope
der imperfect market condition fyge
ing demand (AR) curve and its M
this. Under such conditions a firm

an output (q) where its MC = MR Howevey mI:lr\l‘) M
put level price exceeds marginal COst, the ‘r“r(.'s out,
sults in an inefficient allocation of scarge re
Also the firm produces at the decreasing Part of | p
curve, it is, therefore, productively i"°n'lcic'"‘ ~;\(
higher average cost in production means thyy ‘hcl i ¢
is not making optimum use of scarce resourceg, m
So, from the comparison of perfect and in
ket we conclude that the assertion the higher he Profi
the greater the efficiency proves right in cage of per.

fect market. However, in case of imperfect markets
does not hold true.
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Question 15

‘The free market is not the w

able, efficient use of economic resources, Even the
famous economist Adam Smith recognised that there
was a need for some government involvement,’

ay to achieve a sustain.

Discuss whether government involvement in the

economy might overcome the weaknesses of the free
market system. 2]

[J15/P4Q7)

Essay

A free market system is associated with the capitalist
ideology where all resources are privately owned.
Hence all economic decisions are made by individual
households and firms who act in their own self inter-
est. The essence of a market system is price “"“h“'
nism, often quoted as “invisible hand”. Operating on
its own, without government intervention, price "fc‘cm'
nism allocates resources through million of chIsI_O';z
taken each day by consumers and businesseS: S.O’ xlof
believed that apparently chaotic system of mnlhonst .
transactions would not only allocate resources bu
would do it efficiently.

!
Efficiency generally relates to how W?“ bl eco:l‘;"oy,
uses its scarce resources to satisfy maximum Wa toncy
consumers. When economists use the term eff;:;enc)"
they actually mean allocative and productive € £ scarce
Allocative efficiency is when right amount oducls-
resources are allocated to produce right pro coduct
occurs when the consumers’ valuation (P) of aP

in
. used up
equals the cost of resources (marginal cost)

e
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.« production i.e. p =MC. The graph below illustrates
:::sp concept of allocative efficiency.

F;éc()CO) 1 welfare loss

when P>MC S(MC)

15p----

welfare loss
when P<MC

i

H
O 100 200 T Q000)
The optimum allocation of resources is when output is
200 units at a price of $10 i.e. QD =QS, So the equilib-
rium in the market implies P =MC, and generates maxi-
mum possible amounts of consumer and producer sur-
plus. Any situation where either P > MC or P < MC im-
plies inefficient allocation of resources. An output of
100 units, for instance, indicates that fewer resources
have been allocated than what are required to achieve
P =MC. Now an increase in output up to 200 units
would increase both consumer and producer surplus
indicated by triangle A and hence would improve
allocative efficiency. Alternatively the output of 300
units signifies that too many resources have been allo-
cated for production because P < MC. The shaded tri-
angle B represents welfare loss. It, therefore, follows

that net gains can be realized if production is reduced
to 200 units.

Productive efficiency refers to firms’ costs of produc-
tion and can be applied both to the short run and long
run. It exists when producers minimize the wastage of
resources i.e when they produce a product using the
least possible resources or generating the lowest pos-
sible per unit cost. The graph below shows this.

AC% AC,
\_/ AC,
\\_/ AC]
z
:' A -
0 Q output

The curve AC, suggests productive efficiency because
it indicates the lowest possible cost techniques of pro-
duction for different levels of output. All other curves
above AC; indicate higher per unit cost therefore they
all suggest productive inefficiency. Furthermore,
€conomists use the term technical efficiency when a

firm produces at the lowest point (z) on the lowest av-
erage cost curve.

* The theory of firm predicts that each firm in a perfectly

competitive market produces at the lowest point on its
LRAC curve and it is not possible for any one firm to
reduce its cost any further by altering its output. Every
firm in perfect competition is therefore productively ef-
ficient. This is shown in the graph below.

/ AC

Pmlo NN .ﬂ . /

P I AR-MR
! : (perfect competition)

|
)
: MR| AR (imperfect competition)
1 1 ;
0 ¢ @ 0

It can be analyzed from the graph that perfectly com-
petitive firms maximize profits by equating marginal
cost to price. Thus, when perfect competition is the
market structure for the whole economy, price is equal

to marginal cost in each line of production resulting in
allocative efficiency.

On the contrary, a profit maximizing firm operating un-
der imperfect market conditions will maximize profits at
an output (q) where price exceeds marginal cost, hence
leading to an inefficient allocation of scarce resources,
Also the firm produces at the decreasing part of AC

curve that indicates its failure to optimize use of re-
sources.

It is held that even the competitive outcome of markets
is not efficient from the point of view of society as a
whole. In those cases market system is believed to have
failed and it, therefore, results in a loss of economic and
social welfare. This is because the benefits that the
free-market confers on individuals or businesses carry-

ing out a particular activity diverge from the benefits to
the society as a whole,

The existence of externalities, for instance, causes mar-
ket forces to fail to allocate resource at socially opti-
mum level. An externality occurs whenever actions by
firms or consumers impose costs or confer benefits on
others that are not involved in the transaction. The
essence of the problem created by externalities is that
market forces will lead to either too little or too much
production. With a positive externality, a competitive
free market will produce too little of the good and with
a negative externality it produces too much of the good.

Another important cause of market failure is imperfect
information. The reason for this is that party to a trans-
action can often take an advantage by shifting costs
onto the other party. More generally, whenever either
party to a transaction lacks information that the other
party has, or is deceived by false claims, the outcome
of market forces changes and these changes may lead
to inefficiency.
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Merit and demerit goods are a clear case of imperfect
information. Consumers don’t perceive quite well how
200d or bad a particular product is for them: either they
do not have the right information or they simply lack
some relevant information. The problem is that imper-
fect information causes market forces to lead to an in-
appropriate amount of merit and demerit goods being
produced or consumed.

A distinct type of market failure exists in case of public
goods. A good must possess three distinguishing
characteristics to qualify as a public good. It must be
non-excludible, non-rival and non-rejectable. These fea-
tures give rise to the free rider problem; people receiv-
ing benefits from a good without contributing to its
cost. Thus it develops a situation in which everyone
believes that others will take on the burden of paying
for goods such as national defense and streetlights.
Since the exclusion principle does not apply to these
goods, private enterprises have no economic incentive
to supply them. So we have goods which yield sub-

stantial benefits but to which the market system fails
to allocate resources.

The role of the government is to intervene in markets
that are not seen to be allocating and using resources
in the most efficient manner. Government policy and
methods of intervention can be summarized under four
broad headings: regulation, financial intervention, di-
rect provision and improving information.
In case of financial intervention indirect taxes such as
changes in VAT and excise duties can be used to raise
the price of demerit goods and products with negative
externalities. Subsidies to consumers will lower the
price of merit goods such as grants to students to reduce
the internal costs of staying on in full-time education. In
addition to providing the finance it is also possible for a
government to take over the production of a good or
service, either in whole or in part. State-owned indus-
tries are often referred to as nationalized industries
such as the electricity, coal mining and railway indus-
tries are entirely owned and managed by the state in
many countries. It is also very common to find some
goods and services being produced by both the state
and the private sectors., Education and health care are
particularly good examples of these types of service.

Government action can have a role in improving infor-
mation to help consumers and producers value the
‘true’ cost and/or benefit of a good or service.

Thus a failure to deliver efficient use of resources by the
free market system is normally considered as justification
for some form of government involvement in the
economy. This intervention, however, should be de-
signed to correct market failure with the view to achieve
an improvement in economic and social welfare.

Topic 2.1 o Page ,
0

Question 16

‘Government economic policy is based op, the ige,

people cannot be trusted to choose what is gOOdth;n
them but instead sometimes choose things thag for
harmful to themselves or detrimental to the eny; are
ment (or both). Therefore a free market cap, fon.

. not a|
resources efficiently.’ Ocate
Do you support this argument?

3 s
—

Essay

Free market system is associated with the Capitalist jge.
ology where all resources are privately owned. Hence
economic decisions are made by individual householgs
and firms who act in their own self interest, The es-
sence of free market is price mechanism, often quoted
as "invisible hand".
Operating on its own, without government intervention,
price mechanism allocates resources through milljon of
decisions taken each day by consumers and busi-
nesses. This system operates through signaling where
a rise or fall in prices eliminates shortages and sur-
pluses. This means that market prices will automatically
adjust to where resources are required and where they
are not required. Thus resources are allocated and real-
located according to the preferences of consumers and
therefore consumers are said to be sovereign. So, it is
believed that apparently chaotic system of millions of
transactions would not only allocate resources but it
would do it efficiently.

Efficiency relates to how well an economy uses its
scarce resources to satisfy maximum wants of consum-
ers. An economy achieves allocative efficiency wheniit
allocates right amount of scarce resources to produce
right products. It means that the consumer valuation of
a product (Price) equals the cost of resources uSed_“p
in its production (marginal cost). So when production
takes place where P=MC, economic welfare measurefi
in terms of consumer and producer surplus is {naxr
mized. The graph below illustrates allocative efficiency:

Price A
(3000) welfare loss S(MC)
when P>MC
13F-==-> Lo

welfare loss
100F----- when P<M
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Optimum allocation of resources P=MC is where
QD=QS. A situation where either P >MC or P <MC jm-
plies inefficient allocation of resources. At 100 units, for
instance, P>MC that suggests fewer resources haye
been allocated than what are required to achieve per-
fect allocation. So an increase in output up to 200 units
would increase both consumer and producer surplus
as indicated by the shaded triangle A. O the other
hand P < MC signifies that too many resources have
been allocated for production. An quantity of 300 units,
for instance, suggests over allocation of resources.
The shaded triangle B represents welfare [oss in terms
of consumer and producer surplus from the alternative

product. Therefore, net gains can be realized by reduc-
ing production to 200 units.

It is believed that operating on its own the
tem is capable to correct inefficiencies in most situa-
tions. In certain cases, however, the system may fail to
achieve this. Imperfections in markets, for instance,
usually cause P>MC, and therefore result in under al-
location of resources. The theory of firm predicts that
as the degree of competition is reduced, the demand
curve for individual firms becomes steeper i.e. the firm's
power to set price for its product is strengthened. It,

therefore, charges a price higher than its marginal cost.
Consider the following graph.

price sys-

Monopolists’ profit

Deadweight loss

T LRMC=LRAC

v

O Qm QC Q

Assuming there are constant long-run marginal costs
the monopolist will face the entire downward-sloping
demand curve and it will produce Q,_ output where its
MC=MR and will charge a price P .

Facing the same cost conditions a perfectly competi-
tive market equilibrium price will be Pc and the equilib-
rium quantity supplied and demanded will be Qc. We
see, then, that a monopolist charges a higher price and
produces less than an industry in a competitive situa-
tion. Too few resources are being used in the
monopolist's industry and too many are used elsewhere
—inefficient allocation of scare resources. The area of
consumer surplus is YTPc in the case of the perfecftly
competitive industry. While in a monopoly situation

the area of consumer surplus shrinks to YSP_. The mo-
nopolist gains the area P_VSP_ at the expense of con-
sumers: this area adds to producer surplus and there-
fore labeled as abnormal profit. The triangular area STV
is part of consumer surplus in a competitive market. But
in monopoly neither consumers nor the monopolist
obtain this as a surplus: it is lost to both parties. It is
therefore labeled as the deadweight welfare loss aris-
ing from monopolies.

In other cases market failure exists when even the com-
petitive outcome of markets is not efficient from the
point of view of society as a whole. The result is a loss
of economic and social welfare. This is because the
benefits that the free-market confers on individuals or
businesses carrying out a particular activity diverge
from the benefits to the society as a whole.

The existence of externalities, for instance, causes mar-
ket forces to fail to allocate resource at socially opti-
mum level. An externality occurs whenever actions by
firms or consumers impose costs or confer benefits on
others that are not involved in the transaction. The
essence of the problem created by externalities is that
market forces will lead to either too little or too much
production. With a positive externality, a competitive
free market will produce too little of the good and with
a negative externality it produces too much of the good.
Thus the presence of externalities, even when all mar-
kets are perfectly competitive, leads to socially ineffi-
cient outcomes.

Another important cause of market failure is imperfect
information. The reason for this is that party to a trans-
action can often take an advantage by shifting costs
onto the other party. The other party loses because
they do not have the same information. More gener-
ally, whenever either party to a transaction lacks infor-
mation that the other party has, or is deceived by false
claims, the outcome of market forces changes and these
changes may lead to inefficiency. Merit and demerit
goods are a clear case of imperfect information. Con-
sumers don't perceive quite well how good or bad a
particular product is for them: either they do not have
the right information or they simply lack some relevant
information. The problem is that imperfect information
causes market forces to lead to an Inappropriate

amount of merit and demerit goods being produced or
consumed.

A distinct type of market failure exists in case of public
goods. The issue here is not over and under allocation
but weather resources are allocated at all. A public
good is associated with three distinguishing character-
istics ; it must be non-excludible, non-rival and non-
rejectable. These features give rise to the free rider
problem; people receiving benefits from a good with-
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out contributing to its cost. Since the exclusion prin-
ciple does not apply to these goods, private enterprises
have no economic incentive to supply them. So we
have goods which yield substantial benefits but to
which the market system fails to allocate resources.

The role of the government is to intervene in markets
that are not seen to be allocating and using resources
in the most efficient manner. Government policy and
methods of intervention can be summarized under four
broad headings: regulation, financial intervention, di-
rect provision and improving information.

In case of financial intervention indirect taxes such as
changes in VAT and excise duties can be used to raise
the price of demerit goods and products with negative
externalities. Subsidies to consumers will lower the
price of merit goods such as grants to students to re-
duce the internal costs of staying on in full-time edu-
cation. In addition to providing the finance it is also
possible for a government to take over the production
of a good or service, either in whole or in part. State-
owned industries are often referred to as nationalized
industries such as the electricity, coal mining and rail-
way industries are entirely owned and managed by the
state in many countries. Public goods, for instance, are
directly provided by the government, and are financed
out of tax revenues. They are made available to the
public free of charge.
It is also very common to find some goods and ser-
vices being produced by both the state and the private
sectors. Education and health care are particularly

good examples of these types of service.

As an alternative, government can introduce laws and
regulations involving emissions standards, production
quotas, licenses, permits or outright restrictions. They
are intended to limit production of certain undesirable
goods and promote the use of socially desirable goods.
Governments can also pass laws and regulations that
ensure quality standards and safety features that must
be maintained by producers and sellers of goods and
services, such as food, medications, private schools,
oys, buildings and all types of construction. In addi-
ion, government action can have a role in improving
1formation to help consumers and producers value the
rue' cost and/or benefit of a good or service,

\ therefore, follows that in most cases free market op-
ating through price system is capable of allocating
sources efficiently. In certain cases, however, its fail-
® to deliver efficient allocation of resources is nor-
lly considered as justification for some form of gov-
iment involvement in the cconomy.

Question 17
It has been said that the aim in the allocatigy
resources should be to achieve the greatest happin e(s)f
for the greatest number of people, S

Discuss whether economics has anything to say aby,
the best way to maximise welfare from the useg;

resources. 25
[NI6/Pyy)
——

Essay

Economic theory uses the concept of efﬁciency to
achieve maximum welfare. Efficiency relates to how
well an economy uses its scarce resources to sat.
isfy maximum wants of consumers. According tg
the economic theory an economy achieves allocative
efficiency when it allocates right amount of scarce
resources to produce right products. It means that
the consumer valuation of a product (Price) equals
the cost of resources used up in its production
(marginal cost). So when production takes place
where P=MC, economic welfare measured in terms
of consumer and producer surplus is maximized.
The graph below illustrates allocative efficiency.

Pricc‘
($000) welfare loss
whenP>MC 7 S(MO)
[N]SR N .
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Optimum allocation of resources P =MC is where
QD =QS. A situation where either P>MC or

P <MC implies inefficient allocation of resources.
At 100 units, for instance, P > MC that suggests
fewer resources have been allocated than what ‘“e
required to achieve perfect allocation. SO a0 I:e
crease in output up to 200 units would‘mcfreiled
both consumer and producer surplus as indicd
by the shaded triangle A. On the other han hav
P <MC signifies that too many fesoufcesf;()o
been allocated for production. An quanttty t?ol; of
units, for instance, suggests over allocat! wek-
resources. The shaded triangle B rep resentesr sur-
fare loss in terms of consumer and pmdl;gre. net
plus from the alternative product The(r;il ction ©©
gains can be realized by reducing pro

200 units.



e

o — ——— —

T e

A

It is believed that operating on its own the price
system is capable to correct inefficiencies in most
situations. In certain cases, however, the system
may fail to achieve this. Imperfections in markets,
for instance, usually cause P> MC, and therefore
result in under allocation of resources. The theory
of firm predicts that as the degree of competition is
reduced, the demand curve for individual firms be-
comes steeper i.e. the firm's power to set price for
its product is strengthened. It, therefore, charges a
price higher than its marginal cost. Consider the
following graph.

pie |
Y Monopolists’ profit
p S Deadweight loss
P N T LRMC=LRAC
C \," |
: 1
: i
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' 1
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Assuming there are constant long-run marginal
costs the monopolist will face the entire downward-
sloping demand curve and it will produce Q,, out-
put where its MC =MR and will charge a price P _.
Facing the same cost conditions a perfectly com-
petitive market equilibrium price will be P, and the
equilibrium quantity supplied and demanded will be
Q. We see, then, that a monopolist charges a
higher price and produces less than an industry in
2 competitive situation. Too few resources are be-
ing used in the monopolist’s industry and too
meny are used elsewhere-inefficient allocation of
scare resources. The area of consumer surplus is
YTP. in the case of the perfectly competitive in-
dustry. While in 2 monopoly situation the area of
consumer surplus shrinks to YSP,_. The monopo-
list gzins the area P.VSP_ at the expense of con-
sumers; this area adds to producer surplus and
therefore labeled as abnormal profit. The triangular
@ea STV is part of consumer surplus in a competi-
tive market. But in monopoly neither consumers
nor the monopolist obtain this as a surplug; it is
bost 10 both parties. It is therefore labeled as the
deadweight welfare loss arising from monopolies.

In other cases market failure exists when even the
“ompetitive outcome of markets is not efficient
from the point of view of society as a whole, The
result is 2 boss of economic and social welfare, This
' because the benefits that the free-market confers
9 individuals or businesses carrying out a par-
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ticular activity diverge from the benefits to the so-
ciety as a whole.

The existence of externalitics, for instance, causes
market forces to fail to allocate resource at socially
optimum level. An externality occurs whenever ac-
tions by firms or consumers impose costs or con-
fer benefits on others that are not involved in the
transaction. The essence of the problem created by
externalities is that market forces will lead to cither
too little or too much production. With a positive
externality, a competitive free market will produce
too little of the good and with a negative external-
ity it produces too much of the good. Thus the
presence of externalities, even when all markets are
perfectly competitive, lcads to socially inefficient
outcomes.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. The other party
loses because they do not have the same informa-
tion. More generally, whenever cither party to a
transaction lacks information that the other party
has, or is deceived by false claims, the outcome of
market forces changes and these changes may lead
to inefficiency. Merit and demerit goods arc a clear
case of imperfect information. Consumers don't
perceive quite well how good or bad a particular
product is for them: cither they do not have the
right information or they simply lack some relevant
information. The problem is that imperfect informa-
tion causes market forces to lead to an inappropri-
ate amount of merit and demerit goods being pro-
duced or consumed.

A distinct type of market failure eXists in case of
public goods. The issue here is not over and un-
der allocation but weather resources are allocated
atall. A public good is associated with three dis-
tinguishing characteristics ; it must be non-exclud-
ible, non-rival and non-rejectable, These features
give rise to the free rider problem; people receiving
benefits from a good without contributing to it:
cost. Since the exclusion principle does not apply
to these goods, private enterprises have no eco-
nomic incentive to supply them, So we have goods
which yield substantial benefits but to which *ha
market system fails to allocate resources,

The role of the government is to intervene in mar-

kets that are not seen to be allocating and using

resources in the most eflicient manner. Government

policy and methods of intervention can be summa-
rized under four broad headings: regulation, finan-
cial intervention, direct provision and improving
information, -
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In case of financial intervention Indirect taxes such
as changes in VAT and excise duties can be used
10 raise the price of demerit goods and products
With negative externalities, Subsidies to consumers
Will lower the price of merit goods such s Rrants
10 students 1o reduce the internal costs of staying
on in full-time edueation, In addition to providing,
the finance it is also possible for a government to
take over the production of a good or service, ci-
ther in whole or in part. State-owned industries are
often referred 1o as nationalized industries such ns
the clectricity, conl mining and railway industrics
are entirely owned and managed by the state in
many countries. Public goods, for instance, are di-
rectly provided by the government, and are [i-
nanced out of tax revenues, They are made avail-
able to the public free of charge.

Itis also very common to find some goods and ser-
vices being produced by both the state and the
private sectors. Education and health care are par-
ticularly good examples of these types of service,
As an alternative, government can introduce laws
and regulations involving emissions standards,
production quotas, licenses, permits or outright re-

strictions. They are intended 1o limit production of
certain undesirable goods and promote the usc of

socially desirable goods. Governments can also
pass laws and regulations that ensure quality stan-
dards and safety features that must be maintained
by producers and sellers of goods and services,
such as food, medications, private schools, toys,
buildings and all types of construction, In addition,
government action can have a role in improving
information to help consumers and producers
value the 'true' cost and/or benefit of a good or
service,

It, therefore, follows that in most cases market op-
erating through price system is capable of allocat-
ing resources efficiently. In certain cases, however,
its failure to deliver efficient allocation of resources
can be corrected by the government intervention,

The driving force of some governments is to bring the
benefits of competition to formerly monopolised markets,

Discuss why competitive markets in the private sector
are not always the most efficient means of deciding
how to employ a country’s resources, [13]
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Optimum allocation of resources P = MC is where
QD = QS. A situation where either P > MC o
P <MC implics incfficient allocation of resources.
AU 100 units, for instance, P > MC that suggests
fewer resources have been allocated than what are
required 1o achieve perfect allocation. So an in-
crease in output up to 200 units would increase
both consumer and producer surplus as indicaicd
by the shaded triangle A. On the other hand P <
MC signifies that too many resources have b?e"
allocated for production. A quantity of 300 units
for instance, suggests over allocation ofrcsourccisn-
The shaded triangle B represents welfare Iosslhe
terms of consumer and producer surPl“_S ﬁo":] ¢
alternative product. Therefore, net gamsocznits-
realized by reducing production to 20 ed 10
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act AC,
AC,
AC,
Z
|
0 Q output

In the figure above AC, indicates productive cffi-
ciency. This means that the lowest possible cost
techniques of production are being used to pro-
duce different level of output. All other curves
above AC3 indicate higher per unit cost hence rep-
resent productive inefficiency. The firm is said to
be producing at the optimum level when produc-
tion occurs at the lowest point indicated by point z
on the lowest average cost curve. Economists use
the term technical cfficiency for this point..

A perfectly competitive market produces where
P=MC. Also competition forces all the firms to pro-
duce at the lowest point on the lowest per unit
cost, therefore it is the most efficient market. How-
ever competitiveness of the market do all the good
things that we have discussed; yet there are many
situations in which these markets do not result in
the best outcomes. In these cascs we say that
markets have failed.

Market failure exists when the competitive outcome
of markets is not efficient from the point of view of
society as a whole. The result is a loss of economic
and social welfare. This is usually because the
benefits that the competitive-market confers on in-
dividuals or businesses carrying out a particular
activity diverge from the benefits to the socicety as
a whole.

The existence of externalities, for instance, causes
market forces to fail to allocate resource at socially
optimum level. An externality occurs whenever ac-
tions by firms or consumers impose costs or con-
fer benefits on others that are not involved in the
fransaction. The essence of the problem created by
externalities is that market forces will lead to cither
too little or too much production. With a positive
externality, a competitive market will produce too
little of the good and with a negative externality it
Produces too much of the good. Thus the pres-
ence of externalities, even when all markets are

perfectly competitive, leads to socially inefficient
Outcomes,

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. The other party
loses because they do not have the same informa-
tion. More generally, whenever either party to a
transaction lacks information that the other party
has, or is deceived by false claims, the outcome of
market forces changes and these changes may lead
to inefficiency. Merit and demerit goods are a clear
case of imperfect information. Consumers don’t
perceive quite well how good or bad a particular
product is for them: either they do not have the
right information or they simply lack some relevant
information. The problem is that imperfect informa-
tion causes market forces to lead to an inappropri-
ate amount of merit and demerit goods being pro-
duced or consumed.

A distinct type of market failure exists in case of
public goods. The issue here is not over and un-
der allocation but weather resources are allocated
at all. A public good is associated with three dis-
tinguishing characteristics; it must be non-exclud-
ible, non-rival and non-rejectable. These features
give rise to the free rider problem; people receiving
benefits from a good without contributing to its
cost. Since the exclusion principle does not apply
to these goods, private enterprises have no eco-
nomic incentive to supply them. So we have goods
which yield substantial benefits but to which the
market system fails to allocate resources.

While in general the private competitive markets
are considered most efficient but in certain cases
they fail to bring the most desirable outcome from
a society’s point of view.

Question 19

(@)

(b)

A country moved from a point within its produc-
tion possibility curve to a point on its production
possibility curve.

Explain what is meant by economic efficiency.
Analyse what happened to economic efficiency in
that country as a result of this movement.  [12°

Discuss whether government intervention in the
economy is a necessary and sufficient condition
for overcoming inefficiency in resource allocation.

[13]
[N17/P4/Q2]
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(®) Economic efficiency generally relates to how well

an economy uses its scarce resources to satisfy
maximum wants of consumers. It occurs when so-
ciety is using its scarce resources to produce the
highest possible amount of goods and services.
When economists use the term efficiency they ac-
tually mean allocative and productive efficiency.

An economy is said to achieve allocative efficiency
when right amount of scarce resources are allo-
cated to produce right products. This can be
achieved when the value that consumers place on
a good or service (price) equals the cost of the re-
sources (marginal cost) used up in production i.c.
P=MC. When this happens economic welfare mea-
sured in terms of consumer and producer surplus
is maximized. The graph below illustrates allocative
efficiency.

1 A
pnceﬂ S(MC)
Cs
p 2 »P=MC

(0]

=Y S

The optimum allocation of resources is where
QD=QS, producing an output oq at price op. So the
equilibrium in the market implies P = MC, hence,
generating maximum possible amounts of con-
sumer and producer surplus with the given supply
and demand curves. Situations where either P >MC
or P<MC imply inefficient allocation of resources
as illustrated in the graph below.

Price A
($000) welfare loss
when P>MC S(MC)
15F---->-f---ocno
welfare loss
10fF----- when P<MC
AT A
i | i \D

O 100 200 300 _ Qlooo)

P >MC indicates that fewer resources have been
allocated than what are required to achieve perfect
allocation. This suggests that society would be
under-allocating resources to the production; more

of it should be produced. because eqcp, addie

unit up to 200,000 would increage both ¢, mona|
and producer surplus as indicated by triansu"‘er
hence would improve allocatjve efficiency .
when P = MC, the benefit of producing this - By
uct and alternative products with the availabrr

sources are equal, i.e. allocative efﬁcien: e
achieved. Yis

On the other hand P <MC signifies tha t0o 1y
resources have been allocated for the prOduc:ilny
of this product. Hence the shaded triangle B rep:):
sents welfare loss in terms of consumer and py,
ducer surplus from the alternative product. There,
fore net gains can be realized until productiop
be reduced to 200,000,

Hence resources are being efficiently allocageg to
any product when its output is such that jts price
equals marginal cost.

Can

Productive efficiency refers to firms’ costs of pro-
duction and can be applied both to the short run
and long run. Productive efficiency exists whey
producers minimize the wastage of resources ie
when they produce a product using the least pos-
sible resources or generating the lowest possible
per unit cost. The graph below shows this.

A
AC AC,
\\_/ AC:
\\/ ACJ
Z
.5 R
0 Q g

In the figure above AC, indicates productive effi-
ciency. This means that the lowest possible cost
techniques of production are being used to pro-
duce different level of output. All other curves
above AC, indicate hi gher per unit cost hence.reP‘
resent productive inefficiency. The firm is said 0
be producing at the optimum level when produc”
tion occurs at the lowest point indicated by.PO'"t z
on the lowest average cost curve. Economists use
the term technical efficiency for this point..

In terms of PPC, an economy is said to ac
productive efficiency when it operates at any ot
on its PPC, therefore, when it operates at any P y
below its PPC it is said to be productively l"‘i’ .
cient i.e. it fails to produce the highest possoint
output. Thus, when economy moves from 2 l: 10
inside its PPC to any point on its PPC it IS 52
improve its productive efficiency.

hieve
point
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For an optimal allocation of: resources productive
cfficiency is a necessary but I'nsqfﬁcnent c.ondition.
For instance, there is little point in producing items
at lowest cost if they are not the products most
valued by consumers. Thus allocative efficiency is
also required and it can be achieved at any point
on the PPC provided it reflects the output of goods
most wanted by the society. It implies that a point
on the PPC is necessarily productively efficient but
it is not necessarily allocatively efficient.

Therefore it can be deduced that productive effi-
ciency in that economy would increase but it is not
possible to tell whether this movement to the
curve achieves allocative efficiency.

Market failure exists when the actions by individu-
als are not efficient from the point of view of soci-
ety as a whole. The result is a loss of economic
and social welfare. This is usually because the
benefits of individuals’ actions in terms of carrying
out a particular activity diverge from the benefits
to the society as a whole.

The first of these situations occurs when a firm
facing downward sloping demand curve attempts
to maximize profits and produces an output where
price exceeds marginal cost, hence leading to an in-
efficient allocation of scarce resources. This is
shown in the graph below:

A MC = S under perfect
competition

AR(D)

{ MR
0 Qm Qp Q

Under perfect competition the price is determined
by market forces of demand and supply, hence Pp
is the market price and the industry will sell Qp
output. The industry is said to achieve allocative
efficiency because P = MC. On the other hand a
monopolist, for instance, will produce where
MC=MR. Thus it produces QM output and will sell
this at Pm price. Clearly the monopolist produces
\‘vhere MC <P, hence results in inefficient alloca-
tion of resources. Moreover lack of competition
allows the monopolist to reduce welfare of con-
Sum‘ers because they have a little choice available.
Besides this, monopoly has resulted in a loss of
total surplus of areas 3+5. This is known as dead-

weight loss of monopoly and reduces the welfare
of the whole society.

A -
>

Apart from imperfect markets, the existence of ex-
ternalities also causes market forces to fail to allo-
cate resource at socially optimum level. An exter-
nality occurs whenever actions by firms or con-
sumers impose costs or confer benefits on others

* that are not involved in the transaction. The es-

sence of the problem created by externalities is that
market forces will lead to either too little or too
much production. With a positive externality, a
competitive free market will produce too little of the
good and with a negative externality it produces
too much of the good. Thus the presence of exter-
nalities, even when all markets are perfectly com-
petitive, leads to allocatively inefficient outcomes.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. The other party
loses because they do not have the same informa-
tion. More generally, whenever either party to a
transaction lacks information that the other party
has, or is deceived by false claims, the outcome of
market forces changes and these changes may lead
to inefficiency.

Merit and demerit goods are a clear case of imper-
fect information. Consumers don’t perceive quite
well how good or bad a particular product is for
them: either they do not have the right information
or they simply lack some relevant information. The
problem is that their existence will cause market
forces to lead to an inappropriate amount of the
product being produced or consumed. In this case
as well the producers usually have more informa-
tion of the effects than consumers therefore con-
sumers are usually seen to make inappropriate con-
sumption, thus they lose.

It, therefore, follows that there is role for the gov-
ernment,. It is required to intervene in markets that
are not seen to be allocating resources in the most
efficient manner. Government policy and methods
of intervention can be summarized under four
broad headings: regulation, financial intervention,
direct provision and improving information.

Financial intervention means the use of indirect tax
and subsidy to achieve optimum allocation of re-
sources. Indirect taxes such as changes in VAT and
excise duties can be used to raise the price of de-
merit goods and products with negative externali-
ties. Subsidies to consumers will lower the price of
merit goods such as grants to students to reduce
the internal costs of staying on in full-time educa-
tion. In addition to providing the finance it is also
possible for a government to take over the produc-
tion of a good or service, either in whole or in part.

m+
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State-owned industries are often referred to as na-
tionalized industries such as the electricity, coal
mining and railway industries are entirely owne.d
and managed by the state in many countries. lf is
also very common to find some goods and services
being produced by both the state and the private
sectors. Education and health care are particularly
good examples of these types of service. Govern-
ment action can have a role in improving information
to help consumers and producers value the ‘truc’
cost and/or benefit of a good or service. This could
be done by persuasion (nudge theory) rather than
by enforcement. Nudge theory, originally an ethical
idea not a government manipulative tool, involves
designing choices to encourage decision making in
wider positive interests of society. It is held that well-
Placed ‘nudges’ can reduce market failure, save the
government money, encourage desirable actions and
help increase the efficiency of resource use.

Government intervention, however can prove to be
ineffective or misplaced at times. For instance, the
pursuit of self-interest amongst politicians and
civil servants can often lead to a misallocation of
resources. For example decisions about where to
build new roads, by-passes, schools and hospitals
may be decided with at least one eye to the politi-
cal consequences. The pressures of a looming
election or the influence exerted by special interest
groups can foster an environment in which inap-
propriate spending and tax decisions are made, -
e.g. capital spending on infrastructural projects
without the projects being subjected to a full and
Proper cost-benefit analysis to determine the likely
social costs and benefits,

A decision by the government to rajse taxes on de-
merit goods such as cigarettes might lead to an
increase in attempted tax avoidance, tax evasion,
smuggling and the development of grey markets
where trade takes place between consumers and
suppliegs without paying tax. Government inter-
vention can prove costly to administer and en-
force. The estimated social benefits of a particular
policy might be largely swamped by the administra-
tive costs of introducing it. Lastly a policy made on
limited or wrong information available to the govern-
ment can further accentuate the fajlures of markets.

Thus a failure of individuals’ actions to deliver ef-
ficient allocation of scarce resources is normally
regarded as justification for some form of govern-
ment intervention in the economy. Though gov-
erhment intervention is designed to correct market

ible that government’s

:

p.u‘ 30

A free market economy operates to the bene

Question 20

. fit
consumer and producer to achieve tg most e;’ffboth

outcome, and therefore there js no role fo, a
ment to play in controlling the marke, Over,

Consider the extent to which this Statement jg "
ITe

s

~———

Essay

A free market system is associated with the cy;
talist ideology where al| resources are p“"’atef
owned. Hence all economic decisiong are mage by
individual households and firms who act jp theiy
own self interest. The essence of a market syste,
is price mechanism, often quoted as "invisile
hand". Operating on its own, without governmen
intervention, price mechanism allocates resources
through million of decisions taken each day by
consumers and businesses. So, it js believed that
apparently chaotic system of millions of transac.

tions would not only allocate resources but it
would do it efficiently.

Efficiency generally relates to how wel| an
economy uses its scarce resources to satisfy maxi-
mum wants of consumers. When economists use
the term efficiency they actually refer to allocative
and productive efficiency. Allocative efficiency is
when right amount of scarce resources are  allo-
cated to produce right products. This occurs when
the consumers' valuation (P) of a product equals
the cost of resources (marginal cost) used up in its

production i.e. P=MC. The graph below illustrates
this.

Price r
%) welfare loss
(000) when P>MC S(MC)
ISp--- oo
welfare loss
10fF-aaao when P<MC
Sp==--> (i Tt )
I H :
i : : D
) 100 200 300 Q

. out-
The optimum allocation of resour ces IS wi“é‘s’ So
put is 200 units at a price of $10 i.. QE c, and
the equilibrium in the market implies P

con-
. . of

generates maximum possible amOu'ntStion where
sumer and producer surplus. Any situd :

. cient
either P> MC or P < MC implies mefﬁl
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allocation of resources. An output of 100 units, for
instance, indicates that fewer resources have been
allocated than what are required to achieve P =MC,
Now an increase in output up to 200 units would
increase both consumer and producer surplus
indicated by triangle A and hence would improve
allocative efficiency. Alternatively the output of
300 units signifies that too many resources have
been allocated for production because P < MC .
The shaded triangle B represents welfare loss. It,
therefore, follows that net gains can be realized if
production is reduced to 200 units.

Productive efficiency refers to firms' costs of pro-
duction and can be applied both to the short run
and long run. It exists when producers minimize the
wastage of resources i.e when they produce a
product using the least possible resources or gen-
erating the lowest possible per unit cost. The graph
below shows this.

AC} AC,
v e
v AC3
Z
|
0 Q >

The curve AC, suggests productive efficiency
because it indicates the lowest possible cost tech-
niques of production for different levels of output.
All other curves above AC; indicate higher per unit
cost therefore they all suggest productive ineffi-
ciency. Economists use the term technical  effi-
ciency when a firm produces at the lowest point (z)
on the lowest average cost curve.

The theory of firm predicts that each firm in a per-
fectly competitive market produces at the lowest
point on its LRAC curve and it is not possible for
any one firm to reduce its cost any further by alter-
ing its output. Every firm in perfect competition,
therefore is productively efficient. This is shown in
the graph below.

MC

AC

AR=MR
(perfect competition)

h
i

! AR (Imgerfcct competition)
qa qp Q

It can be analyzed from the graph that perfectly
competitive firms maximize profits by equating
marginal cost to price. Thus, when perfect compe-
tition is the market structure for the whole
economy, price is equal to marginal cost in each
line of production resulting in allocative efficiency.

On the contrary, a profit maximizing firm operating
under imperfect market conditions will maximize
profits at an output (q) where price exceeds mar-
ginal cost, hence leading to an inefficient allocation
of scarce resources. Also the firm produces at the
decreasing part of AC curve that indicates its fail-
ure to optimize use of resources.

However it is held that in few cases even the com-
petitive outcome of markets is not efficient from
the point of view of society as a whole. In those
cases market system is believed to have failed and
it, therefore, results in a loss of economic and so-
cial welfare. This is because the benefits that the
free-market confers on individuals or businesses
carrying out a particular activity diverge from the
benefits to the society as a whole.

The existence of externalities, for instance, causes
market forces to fail to allocate resource at socially
optimum level. An externality occurs whenever ac-
tions by firms or consumers impose costs or con-
fer benefits on others who are not involved in the
transaction. The essence of the problem created
by externalities is that market forces will lead to
either too little or too much production. With a
positive externality, a competitive free market will
produce too little of the good and with a negative
externality it produces too much of the good.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. More generally,
whenever either party to a transaction lacks infor-
mation that the other party has, or is deceived by
false claims, the outcome of market forces changes
and these changes may lead to inefficiency.

Merit and demerit goods are a clear case of imper-
fect information. Consumers don't perceive quite
well how good or bad a particular product is for
them: either they do not have the right information
or'they simply lack some relevant information. The
p’%bl’em is that imperfect information causes mar-
ket forces to lead to an inappropriate amount of
merit and demerit goods being produced or con-
sumed. _

A distinct type of market failure exists in case of
public goods. A good must possess three disti9-
guishing characteristics to qualify as a public
good. It must be non-excludible, non-rival and
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npn-rejectable. These features give rise to the free
rider problem; people receiving benefits from a
good without contributing to its cost. Thus it de-
velops a situation in which everyone believes that
others will take on the burden of paying for goods
such as national defense and streetlights. Since the
exclusion principle does not apply to these goods,
private enterprises have no economic incentive to
supply them. So we have goods which yield sub-
stantial benefits but to which the market system
fails to allocate resources.

The role of the government is to intervene in mar-
kets that are not seen to be allocating and using
resources in the most efficient manner. Government
policy and methods of intervention can be summa-
rized under four broad headings: regulation, finan-
cial intervention, direct provision and improving
information.

In case of financial intervention indirect taxes such
as changes in VAT and excise duties can be used
to raise the price of demerit goods and products
with negative externalities. Subsidies to consumers
will lower the price of merit goods such as grants
to students to reduce the internal costs of staying
on in full-time education. In addition to providing
the finance it is also possible for a government to
take over the production of a good or service, ei-
ther in whole or in part. State-owned industries are
often referred to as nationalized industries such
as the electricity, coal mining and railway industries
are entirely owned and managed by the state in
many countries. It is also very common to find
some goods and services being produced by both
the state and the private  sectors. Education and
health care are particularly good examples of these
types of service.

Government action can have a role in improving in-
formation to help consumers and producers value
the 'true’ cost and/or benefit of a good or service.

However the critics argue that government inter-
vention does not always improve efficiency. They
believe that the pursuit of self interest, limited in-
formation and tendency to look for quick fixes
among politicians can result in a further loss of
efficiency. Even with good intentions governments
seldom get their policy application correct. They
can tax, control and regulate but the eventual out-
come may be a deepening of the market failure or
¢ven worse a new failure may arise.

Thus a failure to deliver efficient use of resources
by the free market system in certain cases is nor-
mally considered as Justification for some form of

“

Dlg. %
government involvement in the econg
tervention, however, should be carefy| 'dTh‘is o
to correct market failure with the View °s'8_ned
an improvement in economic and sogi wel:a,'eve
€,

Question 21

Discuss whether economic efficiency is always gop
able in a market economy. E;I
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A market economy is associated with the Capitalig
ideology where all resources are privately owpeq
Hence all economic decisions are made by indi:
vidual households and firms who act in thej own
self interest. The essence of a market systen is
price mechanism, often quoted as "invisible hang"
Operating on its own, without government inte.
vention, price mechanism allocates resources
through million of decisions taken each day by
consumers and businesses. So, it is believed that
apparently chaotic system of millions of transac-
tions would not only allocate resources but it
would do it efficiently.

Efficiency generally relates to how well an
economy uses its scarce resources to satisfy maxi-
mum wants of consumers. When economists use
the term efficiency they actually refer to allocative
and productive efficiency. Allocative efficiency is
when right amount of scarce resources are allo-
cated to produce right products. This occurs when
the consumers' valuation (Price) of a product
equals the cost of resources (marginal cost) used
up in its production i.e. P = MC. The graph belo¥
illustrates this.

Price
%) welfare loss S(MC)
(000) when P>MC (
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put is 200 units at a price of $10 -y ?’=?\4C, and
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generates maximum possible amounts of consumer
and producer surplus. Any situation where either
p>MC or P <MC implies inefficient allocation of
resources. An output of 100 units, for instance,
indicates that fewer resources have been allocated
than what are required to achieve P =MC. Now an
increase in output up to 200 units would increase
both consumer and producer surplus indicated by
triangle A and hence would improve allocative effi-
ciency. Alternatively the output of 300 units signi-
fies that too many resources have been allocated
for production because P < MC. The shaded tri-
angle B represents welfare loss. It, therefore, fol-
Jows that net gains can be realized if production
is reduced to 200 units.

Productive efficiency refers to firms' costs of pro-
duction and can be applied both to the short run
and long run. It exists when producers minimize the
wastage of resources i.e when they produce a
product using the least possible resources or gen-
erating the lowest possible per unit cost. The graph
below shows this.

y
act AC,
v AC2

\—/ AC3

z

]

:
(0] Q -

The curve AC; suggests productive efficiency
because it indicates the lowest possible cost
techniques of production for different levels of
output. All other curves above AC; indicate higher
per unit cost therefore they all suggest productive
inefficiency. Economists use the term technical
efficiency when a firm produces at the lowest point
(z) on the lowest average cost curve.

The theory of firm predicts that each firm in a per-
fectly competitive market produces at the lowest
point on its LRAC curve and it is not possible for
any one firm to reduce its cost any further by alter-
Ing its output. Every firm in perfect competition,
therefore is productively efficient. This is shown in
the graph below.

MC

AR=MR
(perfect competitior)

AR (Imperfect competition)
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It can be analyzed from the graph that perfec.tly
competitive firms maximize profits by equating
marginal cost to price. Thus, when perfect compe-
tition is the market structure for the whole

economy, price equals marginal cost in each line of
production results in allocative efficiency.

On the contrary, a profit maximizing firm operating
under imperfect market conditions maximizes
profits at an output (q) where price exceeds mar-
ginal cost, hence causes an inefficient allocation of
scarce resources. Also the firm produces at the
decreasing part of its AC curve that indicates its
failure to optimize use of resources.

However it is held that in few cases even the com-
petitive outcome of markets is not efficient from
the point of view of society as a whole. In those
cases market system is believed to have failed and
it, therefore, results in a loss of ~ economic and
social welfare. This is because the benefits that the
free-market confers on individuals or businesses
carrying out a particular activity diverge from the
benefits to the society as a whole.

The existence of externalities, for instance, causes
market forces to fail to allocate resource at socially
optimum level. An externality occurs whenever ac-
tions by firms or consumers impose costs or con-
fer benefits on others who are not involved in the
transaction. The essence of the problem created
by externalities is that market forces will lead to
either too little or too much production. With a
positive externality, a competitive free market will
produce too little of the good and with a negative
externality it produces too much of the good.

Another important cause of market failure is imper-
fect information. The reason for this is that party
to a transaction can often take an advantage by
shifting costs onto the other party. More generally,
whenever either party to a transaction lacks infor-
mation that the other party has, or is deceived by
false claims, the outcome of market forces changes
and it could lead to inefficiency.
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Merit and demerit goods are a clear case of
imperfect information. A merit good is better for a
person than the person who may consume the
good realizes. Moreover, these goods create a di-
vergence between the private and social costs/
benefits of production and consumption leading to
a risk of market failure. So the essence of merit
good is to do with a failure of information to the
consumer and spillover effects on non-consumers.

Good examples of merit goods include health ser-
vices, education, work training programmes, public
libraries etc. There is nothing inherent that makes
these goods different from private goods. There-
fore they can be supplied through the market and
in some countries they actually are. However, con-
sumer may not be able to purchase or feel the need
to consume them up to the correct level i.e. socially
optimum level. Thus the free market forces would
not provide them in the quantities that society

ought to consume. This is illustrated in the graph
below.

cost D

' welfare loss because
merit goods are
under consumed

supply (MSC)
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Here the correct level of demand s D, that i, "
cates q, as socially optimum allocation o
sources. However D, is the actual demand
tered in the market that is higher than D,. Equil.
rium in the market indicates q1 production thy is
higher than the socially optimum leve] of outpyt,
Thus imperfect information causes market forces 1

lead to an inappropriate amount of both merit ang
demerit goods being produced or consumed.

regis.

A distinct type of market failure exists in
case of public goods. A good must pos-
sess three distinguishing characteristics
to qualify as a public good. It must be
non-excludible, non-rival and non-reject-
able. These features give rise to the free
rider problem; people receiving benefits
from a good without contributing to its

derx}and demand cost. Thus it develops a situation fn

(limited information) (full information) which everyone believes that others will

| (MPB) (MSB) take on the burden of paying for goods

0 q q Outpu't such as national defense and

Marginal social benefits equal marginal social
costs indicate q, as socially optimum output. How-
ever, consumers undervalue the product for their
demand is indicated by D,. This leads to q, pro-
duction of the good that is below the optimum
level, thus market has allocated insufficient amount
of resources and hence resulted in welfare loss as
shown by the shaded triangular area.

In contrast demerit goods are worse for the con-
sumers than they realize. A demerit good is  as-
sociated with negative externalities. Consumers do
not fully realize how bad a particular good is for
them, Either they do not have the right information
or they simply lack some relevant information, The
result is higher demand and overproduction of
such goods. Figure below illustrates this,

streetlights. Since the exclusion prin-
ciple does not apply to these goods,
private enterprises have no economic
incentive to supply them. So we have
goods which yield substantial be[}eﬂts
but to which the market system fails t0
allocate resources.

In general a market economy, operating ﬂ,"ough
the forces of demand and supply, is credlteﬂvz
achieve efficiency. However its failure to de'lﬁes
efficient use of resources in specific areas just!

. int
some form of government involvement
economy,




